UGC NET 2022 SOCIAL WORK

Topic:- 10_PARTA_S1

1)

Which of the following is not considered as a value of 2oc1al work profession?
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[Question ID = 1006][Question Description = 101_10_SocialWork_0OCT22_Q01]
! Dignity and worth of the individual

[Option ID = 4021]
2. Boeial justice

[Option ID = 4022]

3. Services

[Option ID = 4023]
4. Empathy

[Option ID = 4024]

2) The time in the research where nothing new is found in the setting and in which researchers
may even lose their prespective if thev stav in the setting any longer is termed as :

B o e e e o e e A 1 = B 1 o = == i e e 1 e el
eI R 0 e 2t e BB o o Bl 2 M e 1 e e )
[Question ID = 1007][Question Description = 102_10_SocialWork_0CT22_Q02]
1. Tipping point
[Option ID = 4025]
2. Saturation point
——
[Option ID = 4026]
3. HReciprocity

[Option ID = 4027]

4 Data saturation

[Option ID = 4028]

3) Which of the following is not a measure of dispersion ?
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[Question ID = 1008][Question Description = 103_10_SocialWork_0OCT22_Q03]
1. Range

TH

[Option ID = 4029]
2. Variance

T

[Option ID = 4030]
3. Median

[Option ID = 4031]
4. Quartile

r

[Option ID = 4032]

4) Which among the following is most serious fallacy relating to literature review 7
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[Question ID = 1009][Question Description = 104_10_SocialWork_0CT22_Q04]
1. Doing Iiterature review after finalizing research questions

[Option ID = 4033]
2. Referring to too many studies

[Option ID = 4034]
3. Baving that the study is new and there iz no literature on it

[Option ID = 4035]
4 Relving only on single source of literature
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[Option ID = 4036]

5) Name the sampling design in which cases are selected on the basis of their ability to
contribute to theory development by disproving or elaborating the theory :
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[Question ID = 1010][Question Description = 105_10_SocialWork_0CT22_Q05]
1. Probability Sampling
2o — ‘Iar

[Option ID = 4037]
2. Theoretical Sampling
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[Option ID = 4038]
3. Multi-stage Sampling

[Option ID = 4039]

4 (Cluster Sampling
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[Option ID = 4040]

6 ; e nd .
) What 12 the main difference between a concept and a variable 7

HEeE 3 Bl 91 = 6 S g 9n A7
[Question ID = 1011][Question Description = 106_10_SocialWork_0CT22_Q06]
1. Measurability
T
[Option ID = 4041]

2. Reliability
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[Option ID = 4042]

3. Subjectivity

-
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[Option ID = 4043]
4. Ohjectivity

~

[Option ID = 4044]

7) When a research inference based on a sample holds true for the unmiverse, it is called :
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[Question ID = 1012][Question Description = 107_10_SocialWork_0CT22_Q07]
1. Abstraction

e
[Option ID = 4045]
2. Temfiability
THTI
[Option ID = 4046]

3. Generalisation

[
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[Option ID = 4047]
4. Replicability
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[Option ID = 4048]

8) Which of the following variables are amenable for statistical calculation such as mean.

median. standard deviation and correlation ?
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[Question ID = 1013][Question Description = 108_10_SocialWork_0OCT22_Q08]
1. Categorical Variable
AT =
[Option ID = 4049]
2. Numerical Varable
TR =
[Option ID = 4050]
3. Classification Variable
STt =7
[Option ID = 4051]
4. Dummy Variable

AT =T

[Option ID = 4052]
9)  In a research inclined towards interpretivism. the appropriate research approach would be:
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[Question ID = 1014][Question Description = 109_10_SocialWork_0CT22_Q09]

1. Descriptive

iﬂaﬂ”iiq%
[Option ID = 4053]

2. Qualitative

[Option ID = 4054]

Subjective
Tare

[Option ID = 4055]
4. Relativism

A=

[Option ID = 4056]

10) . . . . .
A setting or group that the analyst treats as an infegrated social umit that must be studied

helistically and 1tz particularity is called
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[Question ID = 1015][Question Description = 110_10_SocialWork_0OCT22_Q10]

1. Focus group
[Option ID = 4057]
Cohort study

[Option ID = 4058]
3. Phenomenology

[Option ID = 4059]
4. Case study
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[Option ID = 4060]
11) Right to clean air would fall under generation of Human Rights.

[Question ID = 1016][Question Description = 111_10_SocialWork_0OCT22_Q11]

. First generation
g E

[Option ID = 4061]
2. Second generation
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[Option ID = 4062]
3. Third generation

[Option ID = 4063]
4. First and Second generation

[Option ID = 4064]

12)  The Anti-untouchability league was =etup for the eradication of untouchability by :
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[Question ID = 1017][Question Description = 112_10_SocialWork_0OCT22_Q12]
1. B.R Ambedkar

[Option ID = 4065]



2. Jagjivan Ram
ST T

[Option ID = 4066]
3. Mahatma Gandhi
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[Option ID = 4067]
4. K. Kelappan

[Option ID = 4068]

13
) Which is not considered as social welfare model?
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[Question ID = 1018][Question Description = 113_10_SocialWork_0OCT22_Q13]
- Familial

i r

WA

[Option ID = 4069]
2. Institutional

HETHF
[Option ID = 4070]
3. Residual

wafre
[Option ID = 4071]
4. Remedial

SeEiced
[Option ID = 4072]

14 . = = , p .
) In which year, the 73" and 74™ amendment of the Indian constitution was made 7
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[Question ID = 1019][Question Description = 114_10_SocialWork_OCT22_Q14]

1. 1955
[Option ID = 4073]
2. 1967

[Option ID = 4074]
3. 1990

[Option ID = 4075]
4. 1902

[Option ID = 4076]

15)  According to the Mental Heslthoare Act 2017, which of the following is NOT TRUE for

treatment of mental illness ?
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[Question ID = 1020][Question Description = 115_10_SocialWork_0OCT22_Q15]
1. long term care in a mental health establishment shall be used as a last resort
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[Option ID = 4077]
2. care in mental health establishment for as short duration as possible
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[Option ID = 4078]
3. feeus and emphasis on community-based treatment
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[Option ID = 4079]
4. ensure government funded mental health services in every municipal corporation
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[Option ID = 4080]

16) According to the Rights of the Persons with Disability Act. 2016, the appropriate government
shall undertake of all general schemes and programmes imvoliing the persons

with dizabilites :
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[Question ID = 1021][Question Description = 116_10_SocialWork_0OCT22_Q16]

1. Evaluation
[Option ID = 4081]
2. Social Audit
[Option ID = 4082]
3. Monitoring
ﬂ@m

[Option ID = 4083]
4. Feedback
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[Option ID = 4084]

17)  When social workers uphold value of worth and dignity of individual, which of the following
1= not the potential effect / manifestation of it 7
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[Question ID = 1022][Question Description = 117_10_SocialWork_0CT22_Q17]



' Warmth in relationship
e s

[Option ID = 4085]

2. Affiyming personhood

[Option ID = 4086]
3. Appreciating diversity

[Option ID = 4087]
4, Promoting paternalism
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[Option ID = 4088]
18) What is the unique characterstic of soeial group work method 7
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[Question ID = 1023][Question Description = 118_10_SocialWork_0OCT22_Q18]

1. Work with natural primary groups

[Option ID = 4089]

2. Worker - client relationship
T - Hed gey
[Option ID = 4090]

3. Creative use of programme media

[Option ID = 4091]
4. All group members are equal

[Option ID = 4092]

19) Recording in social casze work does not serve as a toal for :-
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[Question ID = 1024][Question Description = 119_10_SocialWork_0OCT22_Q19]
1. Assessing the professional intervention and activities
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[Option ID = 4093]
2. Providing personal safeguards to case worker
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[Option ID = 4094]



3. Rezulating the worker's practice within the bounds of professional ethics and values
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[Option ID = 4095]

4. Qualfving worker's accountability

FEHA ITRANET AN S
[Option ID = 4096]
20) . : . . .
Whach of the following does not belong to the broad category of emancipatory secial work 7
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[Question ID = 1025][Question Description = 120_10_SocialWork_0CT22_Q20]
! Feminist social work
[Option ID = 4097]
2. Generalist social work prespective
AT TR % TETH T 9iE
[Option ID = 4098]
3 Anti oppressive social work
[Option ID = 4099]
4. Ethnic sensitive 2ocial work prespective
[Option ID = 4100]
21)  \Which of the following is not a key feature of Post - modernist societv?
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[Question ID = 1026][Question Description = 121_10_SocialWork_0OCT22_Q21]
! Globalisation

"~

Hﬂ_%ﬁim.
[Option ID = 4101]

2. Media

all

HITEH

[Option ID = 4102]

3. Consumer society

[Option ID = 4103]

4. Trade unionism
47 HEETE

[Option ID = 4104]



22 e e . .
) The end product of the process of socialisation is reflected in one's
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[Question ID = 1027][Question Description = 122_10_SocialWork_0CT22_Q22]

1. Sanskritication

[Option ID = 4105]
2. Persgnality

=X s

[Option ID = 4106]
3. 'Sacial elass

[Option ID = 4107]
4. Standard of living

EIEEE=T

[Option ID = 4108]

23) Who among the following expounded the notion of ” Class Conciguzness™
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[Question ID = 1028][Question Description = 123_10_SocialWork_0OCT22_Q23]
1. Emile Durkheim

[Option ID = 4109]
z. Max Weher

[Option ID = 4110]
3. Karl Marx

[Option ID = 4111]
4. Taleott Parsons

[Option ID = 4112]

24) Identify the book which is not eredited to Mary Richmond?
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[Question ID = 1029][Question Description = 124_10_SocialWork_0OCT22_Q24]

" Homes of the London poor
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[Option ID = 4113]
2. Friendly visiting among the poor
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[Option ID = 4114]
3. What 12 social case work

[Option ID = 4115]
4. Social diagnosis

[Option ID = 4116]

25
) What was the name of the Gulbenkin report published in 1968 ?
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[Question ID = 1030][Question Description = 125_10_SocialWork_0CT22_Q25]

e ommunity work and social change
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[Option ID = 4117]

2. . .
Communtiy work and social work

[Option ID = 4118]
3. Youth and community work

Y T TN TF
[Option ID = 4119]
4. Publhc participation and soeial work

[Option ID = 4120]

26) A subfamily is-a family which

[Question ID = 1031][Question Description = 126_10_SocialWork_0CT22_Q26]
1. lives with another family that may be related to 1t

[Option ID = 4121]
2. Yives with another family that may not be related to it
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[Option ID = 4122]
3. lives with anather family that may or may not be related to it
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[Option ID = 4123]
4. 1streated as a sub group of the main family.
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[Option ID = 4124]

27) Motivational Interviewing (MI) presumes behavioural change is achieved by utilizing basic

elements of person-centered approach which was propounded by :-
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[Question ID = 1032][Question Description = 127_10_SocialWork_0CT22_Q27]
1. William Miller
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[Option ID = 4125]
2. RogersC.R

[Option ID = 4126]

3. David Epston

[Option ID = 4127]
4. (Gillan Tober
r )
L G B L

[Option ID = 4128]

28) N . : .
There are ten core competencies hizted for profezsional social workers in the code of conduet.

Which one of the following is not included as a core competency 7
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[Question ID = 1033][Question Description = 128_10_SocialWork_0OCT22_Q28]

! Professional Identity

[Option ID = 4129]

Acceptance

[Option ID = 4130]
3. Bomal and economic Justice

[Option ID = 4131]
4. Critical thinking

[Option ID = 4132]
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) Which among the following 1z not model of faxmly functioning 7
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[Question ID = 1034][Question Description = 129_10_SocialWork_0OCT22_Q29]

1. Circumflex model

[Option ID = 4133]
2. Me Alaster model

[Option ID = 4134]
3. Structural model

[Option ID = 4135]
4. Guardianship model

[Option ID = 4136]

30)
Which theory of crowd behaviour assumes that crowd behaviour reflects the pre-existing

values. beliefs and behavioural dispesition of the individuals who join a crowd 7
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[Question ID = 1035][Question Description = 130_10_SocialWork_0CT22_Q30]

1. Convergence Theory

[Option ID = 4137]
2. Group Mind Theory
Hi=F o g
[Option ID = 4138]
3. Emergent Worm Theory
“J:I[EII']_H'I- q r“ﬁ]:f E-q ;.ji.
[Option ID = 4139]
4. Contagion Theory
A Ag
[Option ID = 4140]

31)
Who among the following has discussed the concepts of Gradualizsm. infiltration and dialectic

process in community organization?
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[Question ID = 1036][Question Description = 131_10_SocialWork_0CT22_Q31]
" Paulo Freire

[Option ID = 4141]
2. Margaret Ledwith
H ’--‘v’-?_ 3 LS 5'351’

[Option ID = 4142]

3. Lena Dominellh
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[Option ID = 4143]
4. Saul Alinsky

[Option ID = 4144]

32) Green social work 1s the branch of =social work related to the environment. climate change

and global warming issues. Who has propounded this concept?
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[Question ID = 1037][Question Description = 132_10_SocialWork_0OCT22_Q32]

' R.R. Singh

[Option ID = 4145]
2. Jim Ifee

==
[Option ID = 4146]
3. Lena Dominelli

[Option ID = 4147]
4. W.A Friedlander

§Gﬂ§ . #![=jHL Gt

[Option ID = 4148]

33) In which of the following chservation method. the identity of researcher remains ineognito

during the course of field work?
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[Question ID = 1038][Question Description = 133_10_SocialWork_0CT22_Q33]

1. Non-participant cbservation

T—TEgEl dEm



[Option ID = 4149]
Participant ohzervation
[Option ID = 4150]

3. Ohzerver participant

[Option ID = 4151]
4. Participant observer

APl U8

[Option ID = 4152]

34
) Occupational social work 15 a branch of social work which 1s related to
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[Question ID = 1039][Question Description = 134_10_SocialWork_0OCT22_Q34]
1. ocoupational problems of social workers

- r | G N et 2 <
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[Option ID = 4153]
2. work, workers and workplaces
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[Option ID = 4154]

3. social work vrecognition as an occupation not profession
AT FH AEA] UF 91 % €9 8 7 5 SEEs 5 w59 8
[Option ID = 4155]

4. vocational skills and practics
[Option ID = 4156]

35)

According to the Rights of Persons with Disability Act. 2016, ‘person with benchmark
disability’ means a person with ;-
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[Question ID = 1040][Question Description = 135_10_SocialWork_0CT22_Q35]
1. not less than 30 percent of a specified disability
30% TaFmRe a3 5= =

[Option ID = 4157]
2. not less than 40 percent of a specified disability

[ .
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[Option ID = 4158]

3. disability having high support needs
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[Option ID = 4159]

4. not less than 30 percent of a specified disability
50% TEAEe Fama @ w@=m =

[Option ID = 4160]

36) . . . .
What 12 sociometry 1n social group work 7
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[Question ID = 1041][Question Description = 136_10_SocialWork_0OCT22_Q36]
1. A technigue to understand group structure

[Option ID = 4161]
2. An approach to understand social group

[Option ID = 4162]
A strategy to achieve group goal

TR FE MH FE =9 TR FE-AE

[Option ID = 4163]
4. A tool to develop group programine
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[Option ID = 4164]

37 ; : : : :
) In c¢ase work process, the meeting of the social worker and the client 1 a face to face
conservation for studying and assessing the chients problem and situation is known as
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[Question ID = 1042][Question Description = 137_10_SocialWork_0OCT22_Q37]

. Intake interview

ATIET (72 ) AT

[Option ID = 4165]
2. Cellateral interview

TG HIETRT

[Option ID = 4166]
3. Case work interview

[Option ID = 4167]
4. Follow up interview

AT AT

[Option ID = 4168]



38)

“Practice 1 an intersection where the meaning of the worker (theories), the client (stories
and narratives) and culture (myths. rituals and themes) meet". Whose words are these?

[Question ID = 1043][Question Description = 138_10_SocialWork_0OCT22_Q38]
" Peter Berger

[Option ID = 4169]

L : Saleehey
5 s
[Option ID = 4170]
3.

Thomas Luckmann

AT TFAH

[Option ID = 4171]
4. M. Ledwith

g, @Y
[Option ID = 4172]

39)

diagnoses cultural relations between the merging compamies and determines the
extent to which cultural classes-are likely to ocour
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[Question ID = 1044][Question Description = 139_10_SocialWork_0OCT22_Q39]
1. Bi-— cultural audit

[Option ID = 4173]

2. Amaral Management

FATE TEEA

[Option ID = 4174]

3. Aghocracy

a5 =

[Option ID = 4175]

4. Social dynamiecs
;qll I .H—F- III{H—EF‘-.‘JI
[Option ID = 4176]
40) St T ey .
Asper the Mental Heath Care Act 2017, "psychiatric social worker ™ 12 a person having-a
HATEF TR GEHE SAMEEE 2017 % S ST JEEE SRR T7 S0 ¢ Al -

[Question ID = 1045][Question Description = 140_10_SocialWork_0CT22_Q40]



Pozt Graduate (PG) degree in social work

s FHE | IR e () Tl

[Option ID = 4177]
PG degree in social work and a Master of Philosophy (M Phil) in psychiatric social
worlk

TaTH FE 9 9LHA, I SR SRR wETE HE v, (e, i 3y
[Option ID = 4178]
3. PG degree in social work with specialization in medical and psvehiatric social work
Tafrean 33 S hoaha T9T9 FM@ ° [[iogd % 574 G979 w5 9 = a9y

[Option ID = 4179]
4. PG degree 1in social work with specialization in community development

TR T o e F A gEvE e 0 0w 3wy

[Option ID = 4180]

41 . ] ; 3 i
) Which of the following constitute verbal and emotional abuse under the Protection of Women

from Demestic Viclence Act?

(A) Aspersion on character or conduct
(B)  Being financially independent

(C) Insult for not having a male child
(D) Admomsh and name calling

Choose the correct answer from the options given below ;
Hie] Teml & uieensdl #1 S0aw AtaiFag 2006 * @ed 99 # 9 FE-FE-1 Hilgs @ S
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[Question ID = 1046][Question Description = 141_10_SocialWork_0CT22_Q41]
1. {A). (B) and (C) only
T (A), (B) 37 (C)
[Option ID = 4181]
2. (B) (C)and (D) only
=% (B), (C) 3717 (D)
[Option ID = 4182]
3. (A). (C) and (D) only
F (A), (C) 3T (D)
[Option ID = 4183]

4. (D). (A) and {B) only

Fa1 (D). (A) # (B)



[Option ID = 4184]

42)

Within the United Nations syvstem. the 1ssues of indigenous people are dealt by following
hodies :

(&) The working group on indigenous people

(B) The =ocial council on indigenous people

(C) The special rapporteur on human rights of indigious people
(D) Permanent forum on indigenous 1ssues.

Choose the most appropriate answer from the options given below :
T T2 FWEA G o e Sere S H A Jel H A e GRT S e w
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[Question ID = 1047][Question Description = 142_10_SocialWork_0CT22_Q42]
1. (B). (C) and (D) only

Faa (B), () =T (D)

[Option ID = 4185]
2. (A), (B)and (C) only

Fa (A). (B) 31 (E)

[Option ID = 4186]
3. (A), (C) and (D) only

Fa (A), (C) 37 (D)

[Option ID = 4187]

4.

(A), (B) and (D) only

e (A), (B) 317 (D)

[Option ID = 4188]

43)

According to H.Y Siddigul. there are four important components of community work. These
are

{A) The community / target population

(B) Significant individuals

(C)  Agency/organization

(I Resources / funding

(E) Groups within the community

Choose the correct answer from the options ziven helow :
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(B)  Ha=qu =i

(C)  HE T

(D)  =&Erg /fas Ty
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[Question ID = 1048][Question Description = 143_10_SocialWork_0CT22_Q43]
1. (A). (B). (C) (D) only

= (A). (B). (C) # (D)
[Option ID = 4189]
2. (B) (C) (D), (E) only
== (B), (C), (D) 31 (E)
[Option ID = 4190]
3. (). (D). (E), (A) only
=== (C). (D). (E) 311 (A)
[Option ID = 4191]
4. (A) (B). (C). (E) only
Fa= (A), (B), (C) 377 (E)
[Option ID = 4192]

44) i . S
The baszic principles of community work practice include :

(A) The prineiple of specific ohjectives

(B) The principle of planning

(C) The principle of cooperation

{D)  The principle of people’s participation

(E) The principle of democratic functioning

Choose the correct answer from the options given below :

Ay Tafe v oE e
(B) s =1 mge=
(C)  #=am = g

(D) =T w5 g

(E) A= e 1 Es
= fou T T O | TR T 9 =EE T

[Question ID = 1049][Question Description = 144_10_SocialWork_0OCT22_Q44]
1 (A), (B). (C). (D) only

Fae (A), (B), (C) 317 (D)

[Option ID = 4193]



2. (B). (C). (D). (E) only

Fa= (B). (C), (D) 97 (E)
[Option ID = 4194]
3 (A), (B, (D). (E) only
T3 (A). (B). (D) #1 (E)
[Option ID = 4195]
4. (C). (D). (E). (A) only
F47 (C). (D), (E) 51 (A)

[Option ID = 4196]

43) Who among the followings are professionally qualified social workers 7

(A) Sunita Krishnan
{(B) dJerco Billimoria
(C)  Aruna Roy

(D) Medha Patkar

Choose the correct answer from the options given below :

e ¥ 8 F9-F1 =EatEE a0 v ategng aae w1

(&) FHE T

(B) == g

(Cy wAFmTE

(D) = g

i 75U U e | A HE 3 9 =0 i

[Question ID = 1050][Question Description = 145_10_SocialWork_0CT22_Q45]
1 {©). (D), (A) only

4+ (C). (D) #T (A)

[Option ID = 4197]
2. (B). (C). (D) only

#4 (B), (C) 3 (D)

[Option ID = 4198]
3. {A), (B), (D) onlv

e (A), (B) 3717 (D)

[Option ID = 4199]
4. (C), (A). (B) only

F=9 (0). (A) 377 (B)

[Option ID = 4200]



46)  There are number of social defense issues but National Institute of Social Defence iz looking

after a few of these i1ssues. These arve ;
(A) Old Age Care

(B) Destitute Women

() Transgender Welfare

(D) Substance Abuse Prevention
(E) Begzary Prevention

Choose the most appropriate answer from the options given below :

AT GOET | Fei-ad $3 8 7, e 490 SEIeE 90 AT (5l 399 J F9 geal # @l A
:A} ’;_u‘at_al q"ﬁ- _lqi'gq ™
(B) Tt gz

5

(Cy  ZIEa—= e
(D)  TTAEF THEERR AT
(E)  Togmam o
Hr= Ton v e § A HEE ST S W 999 S0
[Question ID = 1051][Question Description = 146_10_SocialWork_0OCT22_Q46]
1 (A), (B). (©). (D) only
Fae (A). (B). (C) 317 (D)
[Option ID = 4201]
2. (A), (B), (C), (E) only
49 (A). (B). (C) = (E)

[Option ID = 4202]
3. (A (C), (D). (E) only

F= (A). (C). (D) ¥w (E)
[Option ID = 4203]

4. (B). (Q), (D), (E) only
=5 (B). (C), (D) Hi (E)

[Option ID = 4204]

47 3 z ; ;
) Which of the following statements are true about collective conciouznezs 7

(A) It reflects collective norms of soclety

(B) It promotes expectations for acceptable behanour
(C) It places restraints on deviant behaviour

(D) It suppresses the individual agency

Choose the most appropriate answer firom the options given below :



T T F TR H S A W RE-E i E e wE 27
(A) TF FETH ¥ A@EEF TELTS a9 |

(B) =% AT FEE FI TEN F weE ol 2 |

(C) == TauepTH =aaee 1 Haf=1T #d 2 |

(D) == =T IE FZE A R |

= f=m T T @ e S I 1 =9 i
[Question ID = 1052][Question Description = 147_10_SocialWork_0OCT22_Q47]
1. (A), (B). (C) only

= (A), (B), (C)

[Option ID = 4205]
2. (B). (C). (D) only

Fa+1 (B). (C). (D)

[Option ID = 4206]

3. (D). (B}, (A) only

wae (D), (B). (A)

[Option ID = 4207]
4. (D), (C), (&) only
Fa7 (D), (C). (A)

[Option ID = 4208]

48) . . _— ..
Whach of the following are core principles of participatory research?

(A Attitude Reverzal

(B) Optimal Tgnorance
(C) Participant Expertize
(D) Triangulation

(E) Expert Competancy

Choose the most appropriate answer from the options given below :

f7=1 o o wfarl sEaE F o mon FE-FE a et

@

(B)  wEd A

(C)  wiAgw e

Dy TageA T

(Ey  Taoms =&

<= fou T T © B HEE I I R = i
[Question ID = 1053][Question Description = 148_10_SocialWork_0CT22_Q48]
1. (A).(B) and (C) only

= (A). (B). (C)

[Option ID = 4209]
2. (A). (B) and (D) only



Fa=1 (A). (B). (D)
[Option ID = 4210]
3. (B, (C) and (D) gnly
Fae (B). (C). (D)
[Option ID = 4211]

4. (B). (D) and (E) only
4= (B). (D). (E)
[Option ID = 4212]

49)

Which of the following reform movements were based on rescurce to 'text’ based pumtan
practices?

(A) Brahmo Samaj

iB)  Arya Samaj

(Cy Deoband movement
(D) Satya Shodhak Samaj

Choose the most appropriate answer from the options given below :
1 T H FH-FE T GEW FIeE R S SIaRy I o A 7
(A) I T
(By =4 TETA
(C) 7Ews A
(D) HegENEE HETH

A oo o famedi B @ HeE ST ST ) =5 hiA

[Question ID = 1054][Question Description = 149_10_SocialWork_0CT22_Q49]
1. (A). (B) only

Fa (A), (B)

[Option ID = 4213]
2. (B). (C) only

45 (B), (C)

[Option ID = 4214]
3. (C) (D) only

Fa (C). (D)

[Option ID = 4215]
4. (D). (A) onlv

F9= (D). (A)

[Option ID = 4216]



50 N ) . . . .
) The keyv to capitalism as a zocial eyetem 1= a zet of three velationships among :

(A) Waorkers

(B) The means of production

(C) The market

(Dy Those who contrel the means of production

Choose the most appropriate answer from the options given helow :

TN T AT S =0 H e 8 3 A g w i e R
VI
(B) 3P F WA
(. =rae
(D) = A I F A W A A
=i o T T 5 H gEE I 30 R S A
[Question ID = 1055][Question Description = 150_10_SocialWork_0OCT22_Q50]
- (A). (B). (D) only

Fa+ (A), (B). (D)
[Option ID = 4217]
2. (A). (B). (C) only

4 (A), (B). ()
[Option ID = 4218]

3. (B).(0). (D) only

Fa+ (B), (C), (D)

[Option ID = 4219]
4 (D). (C). (4) only

Fa= (D), (C). (A)

[Option ID = 4220]

51)
Soecial group work as a method of social work aims at the development of the followings

(4)  Leadership qualities

(B) Democratic way of functioning
(C) Capahbility of adjustment

(D) Dizciplined followers

Choose the most appropriate answer from the options given below ;

HWITF TE H AEF HE U5 =Y 5 S S 6 A % S e w2l

&) g

(B)  SAdI=rR AT

(C)  TH== F1 55T
(D) IFFEES S

= Tou 0 Tl B W S9E 3O %S9 hITAT



[Question ID = 1056][Question Description = 151_10_SocialWork_0CT22_Q51]
1. (&), (B). (C) only
Fa5 (A). (B). (C)
[Option ID = 4221]
2. (B). (C). (D) only
Fa9 (B). (C). (D)
[Option ID = 4222]

3. (A), (C), (D) only

Fae (A). (C). (D)

[Option ID = 4223]
4 (D). (A). (B) only

#Fa (D). (A). (B)

[Option ID = 4224]

52 F .. 0 . { o
) The following are the objectives which the Preamble of the Indian Constitution secures fo
every citizen :

{4)  Justice

(B} Democracy
(C) Liberty

(D Equality

Choose the most appropriate answer from the optiong given helow :

frefetan v S i e ® 55gE TR 2 A e e Amien 7w
(A) =
(B) ERGE!
(C) e nl
(D AT
+r= fou U TEReT § A HEE ST SR WA A
[Question ID = 1057][Question Description = 152_10_SocialWork_0OCT22_Q52]
1. (A), (B), (C) only
T (A), (B). (C)
[Option ID = 4225]
2. (B). (C). (D) only
#3 (B). (C). (D)
[Option ID = 4226]
3. (A), (C), (D) only
e (A). (C), (D)
[Option ID = 4227]

4. (D), (A). (B) anly

a4 (D), (A), (B)



[Option ID = 4228]

33)  What is the meamng of social action?

(A) A group action to solve mass social problems

B) collective action by members to counter violence

(C) the organized efforts with the aim of solving mass social problems
(D) Izsue oriented community work to generate collective movement

Choose the most appropriate answer firom the options given below :

AT Y

(A)  UF @7 H AT & ATEAE H S AT GTETaE ST T AEEE
(B) == = wimira % o0 wsgi g AWiEs

(C)  FAEHEF G B9 F AU % 359a J e

(D) 35279 T9E AEGEF FE F A0 AEET A 500

= fou T T | A wEE I9EE 3w S0 i
[Question ID = 1058][Question Description = 153_10_SocialWork_0OCT22_Q53]
- (A). (B). (C) only

A (A), (B). (O)

[Option ID = 4229]

2. {A), (C). (D) only
F4 (A). (C). (D)

[Option ID = 4230]

3. (A, (B), (D) only
T4 (A), (B). (D)

[Option ID = 4231]

4. (B) (C). (D) only
Fa (B). (C). (D)

[Option ID = 4232]

54 .. . —
) What are the rolez plaved by the civil seciety organizations 7

(A) Policy Analy=is

(B) Advocacy

(C) Monitoring the state performance
(M Formulation of laws

Choose the most appropriate answer from the options siven helow :



AR AT HEATS] G T H | R 1 i o e e e 2

(A)
(B)
(C)
()

TFEEA

e U T e W HEE S I S =EA A

[Question ID = 1059][Question Description = 154_10_SocialWork_0CT22_Q54]
(A), (B). (C) only

1.

2.

3.

4.

e (A), (B). (O)

[Option ID = 4233]

(A

(B), (D) only

Fa= (A), (B), (D)

[Option ID = 4234]
(B), (C), (D) only

Fa (B). (C), (D)

[Option ID = 4235]
(Ch (D), (A only

Fae (C). (D), (A)

[Option ID = 4236]

55)

1.

2.

The definition of "Project” includes ;

(A} & sef of activities

(B) specific objectives

{C) particular timeframe

(D)  cause and effect relationship

Choose the most appropriate answer from the options given below :

(A)
(B)
(8]
(D)

AT o TF T o
e w=w
Tator= =g w5

FE-FAT T

H= fou e # 8 meE IuEE S w oA i

[Question ID = 1060][Question Description = 155_10_SocialWork_0OCT22_Q55]
(B). (C). (D) only

Faa (B). (C). (D)

[Option ID = 4237]

iC),

(D). (A) only

Fae (C), (D), (A)

[Option ID = 4238]



3. (A}, (C). (D) only

Fae (A). (C), (D)

[Option ID = 4239]
4 (A). (B). (C) only

A (A). (B). (C)

[Option ID = 4240]

56)

Which of the following statements hold true about the Foreign Contribution Regulations Aet?

(]
{B)
(C)
(D)

UN High Commissioner for Human Rights urges authorities to carefully review the
compliance of FCRA with international Human Rights standards

FCRA 1= implemented and monitored by the Ministry of Home Affairs. Govt. of India
FCRA has to be renewed every two years

The opening of bank account in State Bank of India. New Delhi is compulsory for all
FCRA renewals [ registrations.

Choose the correct answer from the options given below :

T3t TEam e A 5 959 O 1S 8 O FE-FE T R O 20

(4)

(B)
(©
(D)

HAaTeEn o o Tgw T2 F I=aEe 3 A 8 9w e 2 ovs AL e F osEaeE
o S WA & AEE R ARl JEE G e =

YH BERE & T S & g T AR i T #i S e S

W HY, S0, T Yo T Al § S B 2 |

il v HL AT F /IS F T 9EAE =2 &%, 8 T i amE 8 =@ @
AETAF 7 |

= feu T T § F TR o R 99 S

[Question ID = 1061][Question Description = 156_10_SocialWork_0CT22_Q56]
T (©). (B). (A) only

Fa+ (C). (B). (A)

[Option ID = 4241]

(A). (C). (D) only

a4 (A). (). (D)

[Option ID = 4242]

(B). (C). (D) only

T3+ (B). (C). (D)

[Option ID = 4243]

(A), (B). (D) only

e+ (A). (B). (D)

[Option ID = 4244]



57
) Mention the foundations promoted by the Government of India.

(A)  Dr. Ambedkay Foundation

(B) Vivekanand International Foundation
() Babu Jagjivan Ram Foundation

(D)  India Brand Equity Foundation

(E) Rajiv Gandhi Foundation

Choose the most appropriate answer from the options given below |

(A) ST, ITEESE WEUSIN

(B) T SIS FIHIsTH

(C) =1 STHEA T HEIEIH
D) s EwE T wEveTE
(E) 7= Mt weveTE
A fam ™ e @ @ AeE ST S R 999 i
[Question ID = 1062][Question Description = 157_10_SocialWork_0CT22_Q57]
1 (A). (B). (C) only
F7 (A), (B). (C)
[Option ID = 4245]
2. (A), (C). (D) only
F44 (A). (0), (D)
[Option ID = 4246]

3. (A). (B). (E) only

a9 (A). (B). (E)

[Option ID = 4247]
4. (B). (C). (E) only

4= (B). (C). (E)
[Option ID = 4248]

58) . R .
What are the models of community organization according to Rothman 7

(A) Community Development
(B)  Social Planning

(C)  Soecial Action

(D)  Loeality Development

Choose the most appropriate answer from the options given below :



T F AR WEEIEE a5 ey FA— i R 7

(A) R
(B) =mmiEE FEres
(C)  =m=

(D) T =
7 Tou T foredl § 9 Hed 39ET IA0 1 =99 Hian

[Question ID = 1063][Question Description = 158_10_SocialWork_0CT22_Q58]
1. (A). (B) and (C) only

el (A), (B). (C)
[Option ID = 4249]
2. (B). {C)and (D) only
F== (B). (C), (D)
[Option ID = 4250]
3. {A). (C) and (D) only
A (A), (C). (D)

[Option ID = 4251]
4. (A), (B) and (D) only

Fa4 (A). (B), (D)

[Option ID = 4252]

59) . . . . .
Which of the following research designs are largelvy governed by Quasi — experimental
research design 7

(A} Diagnostic desizn

(B) Evaluation rezearch
{C)  Intervention research
(D) Single subject design
(E) Survey design

Choose the most appropriate answer from the options given below ;

Frefelgs g TEdl B 8 6 A UEY $4-UEnTE STEaE e # Aui 5 e 27
(A)  TeEETE =

(B)  FEETA Y

(C) ==&y o

(D)  F fE9E Ty

(E) =& wwEy

i B A LS B e Rl i 1= e s D 1 p 1 e 2| LS

[Question ID = 1064][Question Description = 159_10_SocialWork_0OCT22_Q59]
1. (A). (B). (Cyonly

A (A), (B), (C)

[Option ID = 4253]



2. (C). (D). (E) only

F4= (C), (D). (E)

[Option ID = 4254]
3. (D (E). (A) only

= (D). (E). (A)
[Option ID = 4255]

4. (B). (C). (D) only
#a4 (B). (C). (D)

[Option ID = 4256]

60) . _
Two major methods of trade umonism are

(A) Mutual Insurance

(B) Bocial Assistance

(C) Collective Bargaining
(D} Legal Enactment

(E) Retrenchment

Choose the correct answer from the options given helow :
R DT et eci
(A) T A
(B)  HHITEF GEEA
(C) == Higarsi
(D)  FEA EEE
(E) 31
1= To0 7 e ° | HWe I 9 e

[Question ID = 1065][Question Description = 160_10_SocialWork_0OCT22_Q60]
1. (A) and (B) only

#ae (A) #i(B)
[Option ID = 4257]
2. (B)and (C)only

a4 (B) 317 (C)

[Option ID = 4258]
3. () and (D) only

e (C) #41 (D)

[Option ID = 4259]
4. (D) and (E) only

Fa (D) 7 (E)

[Option ID = 4260]



61)
What are the specific purposes achieved in social croup work 7

(4)  Social adjustment of individuals

(B) Social consciousness of the group

(C) Personality development

(I Inter — gvoup competition

Choose the most appropriate answer from the options given helow |
HETF FHE FE F g0 FA-FE A @ I5eE e e 2
(A) AT HET S AT
(B)  TgE T TENAF HEAT
(C)  =arwee fawm
(D) = TR WA
3 fom e et B 5w v 3w == i

[Question ID = 1066][Question Description = 161_10_SocialWork_0OCT22_Q61]
1. (B (). (D) only

F==1 (B), (C), (D)
[Option ID = 4261]

2. (C). (D). (A) only

F== (C), (D), (A)
[Option ID = 4262]

3. (D), (B). (A) only
%= (D). (B). (A)

[Option ID = 4263]
4 (A). (B). (C) only

F4 (A), (B). (C)
[Option ID = 4264]
62)
Which are the essential elements of programnie planning included in group werk practice?

(A The program content

(B) Group members interest

() Group members commaon goal
(D) Plans of the ageney

Choosze the most appropriate answer from the options given below :

FHFA AT % FiA 9 96 A0l HYE 1 e § afsied 26 A
(&) wrw A A

(B)  =mE W w5

(C)  =HF m5=l F "EF @

(D) = i A

= fou T fepe § | HeE SUET IR 1 S I

[Question ID = 1067][Question Description = 162_10_SocialWork_0CT22_Q62]



1. (B). (C), (D) only

a9 (B). (C), (D)
[Option ID = 4265]

2. (C), (B). (A) only

A= (C), (B). (A)
[Option ID = 4266]

3. (B), (A). (D) only

== (B). (A). (D)
[Option ID = 4267]

4. (A), (C). (D) only

9 (A). (C). (D)

[Option ID = 4268]

63
) What are the key institutions of Indian demeocracy 7

(A) Legislature
(B Executive
(C) Electorate
(D) Judicary

Choose the most appropriate answer from the options given below :

(&)  TaerEm
(B)  FEIeTE
(C) frares o

(D)  =EAIE
S fou 0 Tt § | weE 399 39 W == i

[Question ID = 1068][Question Description = 163_10_SocialWork_0CT22_Q63]
1. (A), (B), (C) only

Fae (A). (B), (C)

[Option ID = 4269]
2. (B). (Q), (D) only

4 (B), (C). (D)

[Option ID = 4270]
3. {A), (B). (D) only

T+ (A). (B (D)

[Option ID = 4271]
4. (C). (D). (A) onl¥

= (C). (D). (A)

[Option ID = 4272]



64)
Communtiy orgamsation in India according to Mukherjee 12 setting up following in the
village

(A) the village panchavat

(B) the villaze cooperative
(C) the primary health centre
(D) the village schoal

(Choose the correct answer from the options given below !

TS F AT GET F Ml 0 AW AaT e w4 e #

(&)  Tmdm oaEEe

(B) T mEETA

(Cy  wuteF =

(D) T e

Ha fau T EEeT | B OE I 9 HIE
[Question ID = 1069][Question Description = 164_10_SocialWork_0OCT22_Q64]
- (A), (B) and (D) only

FA (A). (B). (D)

[Option ID = 4273]
2. (B). (C) and (D) only

Fae (B). (C). (D)
[Option ID = 4274]

(A). (B)and (C) only
Fad (A). (B). (C)
[Option ID = 4275]

4. (A), (C) and (D) only

e (A). (C). (D)

[Option ID = 4276]

65) Critical social work includes :

(A)  Anti oppressive practice
(B) Feminist soctal work
(C) Indigenous social work
(D) Gandhian social work

Choose the carrect answer from the options given helow :

e

AT TOTH i gmEA

(&) = T ==

(B) TWETE gE wE

(C)  =oim =mrs e

(D) THTEE =EE

19 fm T T § A I =Ed i



[Question ID = 1070][Question Description = 165_10_SocialWork_0OCT22_Q65]
1. {A). (B). (D) only

= (A), (B). (D)

[Option ID = 4277]
2. (B). (C). (D) only

=44 (B). (C). (D)
[Option ID = 4278]

3. (A) (C). (D) only

Fae (A). (O), (D)

[Option ID = 4279]
4. (A), (B), (C) only

a5 (A), (B). ()

[Option ID = 4280]

°0) Match List T with List IT
ListI List IT
Concepts Exponents
{A) Social Distance (I)'  Max Weber
{B) Social Closure (II} Herbert Spencer
(C)  Social Darwinizsm (ITI} Emile Durkheun
(D) Soecial Evolution (IV) E.S Bogardus

Choose the correct answer from the options given below:

et I % g 11 5= =1 5= Hirae

TH-L -1
(A)  FEIEF (I) g =
(B) =T T (Il) =2 =T
(C) @AWI=F seEFmEy (1) vEeT =heq
(D) =EIEE (IV) 3.8, SPsH

BB o e e R i e 7l e 1 oAl
[Question ID = 1071][Question Description = 166_10_SocialWork_0OCT22_Q66]

T (AT, (B)-(I. (C)-{II1), (D)-(IV)

[Option ID = 4281]
2. (A)-(ID) , (B)-{IIIL), (C)-(IV), (D)-(I)

[Option ID = 4282]
3. (A)-(IID). (Bi-(IV). (C)-(I). (D)-(IL)

[Option ID = 4283]
4 ATV (B)-(D. (C)-(ID). (D)-(IID)

[Option ID = 4284]



67)

Match List T'with List IT
ListI
{A) Ethnology (I
(B) Ethnographyv (II)
{C) Ethnomania (I11)
(D) Ethnocentrism

Last IT
The evaluation of other cultures according to pre
conceptions originating in the standards and
customs of one’s own culture
The study of the characterstic of different people
and the differences & relationship between them

The scientific description of the people and cultures
with their customs. habits and mutual differences

(IV) A fanaticism favouring ethinie or racial autonomy

o1 dominance

Choose the correct answer from the options given below:

T 1 % 317 11 =991 #1 oo i

]

(A) Tﬂfﬁ{aﬁﬁ SiEE

O

FIL

Fr w2 |

(IT) Tafu= =0 = o0, =991 390 T 51 9999
FT e TOH

i AU L S B e s Nt e e -1 B 1 A

[Question ID = 1072][Question Description = 167_10_SocialWork_0CT22_Q67]
(A)(I) (B)-(ID). (C)(III). (DH-(IV)

1.

2.

3.

4.

[Option ID = 4285]
(AT (B)-(IIL). (C)-(IN). (D)-(I)

[Option ID = 4286]
{(AV-(IID): (B)-(IV), (C)-(IL). (D)-(I)

[Option ID = 4287]
(AN(IV). (B)-(IID). (C)«(I). (D)-(II)

[Option ID = 4288]

68)

Match List T with List TT

ListI

Defense Mechanism

(A)

(B)

(C)

(D)

Projection
Rationalization
Sublimation

Denial

(T

(1L}

(I1IT)

(IV)

Tast IT
Meaning

Allows to act out unaceeptable impulses by converting

these hehaviours into a more acceptable forms

Explaining an unacceptahle behaviour or feeling in a
logical manner avoiding true reason for the behaviour

Taking own unacceptable gualities or feelings and

ascribing them to other people

Used often to deseribe a situation in which people are

unable to face reality or admit an obvious truth

Choose the correct answer from the options given below:



i I % =g I gt =1 faem= i

=1 T
(A)  wET (I) 399 39 J&91 Fi O [FaEiE =29e § 9 #1991
(B) TR (IT) =7 F 5o F0 F F9ee 0 70 ] =Een T qE
1 T S ATEN O e F|
(C)  FErEm (IIT) =37 9= 00 S0 G 2 S8 = S
(D) T (IV) =51 5997wl fE0E o 77 £ 8l o0 =S OO A

= o e Tl 5 0 R 3 o == i
[Question ID = 1073][Question Description = 168_10_SocialWork_0CT22_Q68]
T (A, (B)-(D), (€)-(IID). (D)-IV)

[Option ID = 4289]

2. (A)(ID), (B)-(IOI), (C)-(IV). (D)-(T)

[Option ID = 4290]
3. (A)AIID. (By-(ID. (C)-(D). (D)-(IV)

[Option ID = 4291]
4 (AHIV). (B)-(IID). (C)-ID). (D)D)

[Option ID = 4292]

69)
Match Tast T with Tast IT
ListI List IT
Author Definition of social change

(A) EKarl Marx (I} Soceial change 15 automatically
determined by economic factors

(B) Ginsherg (IT) Soecial chanze 12 regarded as the
changes in social relationships

(C)  Summnerand Eeller (III) Social change means chanees in a social
structures

(D) Melver and Page (IV) The material conditions of the Iife are

the determinng factors of soeial change

Chouose the corrvect answer from the options given below:

T 1 = = I g1 1 e i

I I
(&) = T (I) =it T i Fee | = e e
(B) T (I) BT 9AEA 3 779 TS Al § O 1 #
(C) =77 7E Fo (III) STTiseR Tiee o 5779/ S S B aiEed o 7 |

(D) FFEEERwE T (V) S Fi9eg v ahfEE & A 1 F w2
b B G L 2 et s = = e 1 2 o e 1 L

[Question ID = 1074][Question Description = 169_10_SocialWork_0OCT22_Q69]
T (AD. (B)-( ID). (C)~(III). (D)-(IV)

[Option ID = 4293]
2. (A)-(ID, (B)-(IID), (C)-(D), (D)-(TV)



[Option ID = 4294]
3. (A)(IID), (By-(IV), (O)-(IL). (D)-(D)

[Option ID = 4295]
4. (AAIV). (ByAIID. (Ci-(I). (Dy-(II

[Option ID = 4296]

Match List I with List IT : Match the Responsibility' with Expectations in Carrel's Model of

CSR
ListI Tist IT
Responsibility Expectations
(A) Philanthropic Responsibility (I}  Expected by society
(B) Ethical Responsibility (II) Desired by society
() Legal Responstbility (III) Required by society
(D)  Economic Responsibility (IV) Reguired by government

Choose the correct answer from the options given below :

= I % = 11 g1 =0 5 fitae « e = =51 U5 9E 5SS % gyl TAan S Teen @ gl |

TH1-1 TH-II
Bt A e AT
(A) EATRIERTE TR (I) =@ grT ST
(B) FFF giEa (ID) =ETH GrT SATE
() AT wTEeE (ITD) AT G T ATFwaFal
(D) e g (IV) =R GRI T Syl

Bl Pt o et - B J= i s T o e 0 L
[Question ID = 1075][Question Description = 170_10_SocialWork_0OCT22_Q70]
T (A, (B)-V). (C)-(ID). (DI(IID)

[Option ID = 4297]
2. (A)(TV), (B)-(II). (C)-(I). (D)-(I1T;

[Option ID = 4298]
3.0 (A(ID. (B)-(In. (O)-(IV), (D)-{I1I

[Option ID = 4299]
4. (ALY (BY-(IT). (C)=(IV). (D«D)

[Option ID = 4300]



71
) Mateh List T with List IT

List I List 1T
Research Design Nature of the Design
(A) Exploratery desizgn (Il Causal relationship
(B) Deseriptive design (II' Cohort study
(C) Experimental design {IIT} Fact finding
(D) Lengitudinal design (IV) Deserbing phenomenon

Choose the correct answer from the options given below :

o= I % = I 51 %1 foem Fim

-1 LI
(A)  TE= ST () =FE-—FAT Tey

(B) =T AT (IT) == AT
(C) TArTHF AT (IIT) ¥1=3 e
(D) e wtgFea (IV) i =3
Hr= fon o o § @ W I A e
[Question ID = 1076][Question Description = 171_10_SocialWork_0CT22_Q71]
T (A)D). B)ID). (C)-(IID). (D)-(IV)

[Option ID = 4301]
2. {A)AID), (By-(D), (C)-(TV), (D)y-(110)

[Option ID = 4302]
3. (AT, (By=(IV), (C)-(I). (D-{II)
[Option ID = 4303]

4. (AW(IV) (B, (C)-(IL. (D)I)

[Option ID = 4304]

72)  Mateh List I with List I
List I List IT
Case work approaches Proponents

(A) Pzychozocial approach  (I) Lydia Rapoport
{B) Functional approach (Ilh H.H. Perlman
(C) Problem sclving model (III) Ruth E. Smallev
(D) Crisis intervention (IV) Florence Hollis

Choose the correct answer firom the options given below:

=i I % = I g =1 e i

i T1-IT
(A) TAEWIAE FEET (I) Feirear e
(B) ToFame= SiEEm (ID) v= .. T
(C)  wo=m mmwE gewm (D) =9 3. =
D) W § wE IV FrA FfeE

= 750 T AT O 0 HE T 90 A



[Question ID = 1077][Question Description = 172_10_SocialWork_0OCT22_Q72]
T (AN(D. (B)-(II). (C)-(IID). (D)-(IV)

[Option ID = 4305]
2 (A)(ID). (B)-(D. (C)-(IV). (D)-(IID)

[Option ID = 4306]
3. (A)IID. (Bi-(IV). (C)-(Dy. (D)~(1L)

[Option ID = 4307]
4 (A)(IV), (B)-(TIT). (C)-(I0). (D)-(T)

[Option ID = 4308]

73
) Matech List I with List IT
Tast I Last IO

Aythors Specialized work in the field of
{A) P D RKulkarm {Ii Social work eduecation
(Bl EEK Jaech (II) Social policy
(C) H.Y Siddiqui (IIT) Community Organisation
(D) E.D. Gangrade (IV}) BSocial Action

Choose the correct answer from the options given below :

gt I & =g 11 g0 1 5em Hirae

I I
(A) . T () == F e
B) FF T (D) =T i
(C) 7 a7 T (ILT) BT T
D) 3. TETE (IV) =T T

B AU I EE ot i B = et A =0 F B | U
[Question ID = 1078][Question Description = 173_10_SocialWork_0OCT22_Q73]
T (A)-(D). (B)-(I). (T)-(IID). (D)-(IV)

[Option ID = 4309]
2. (A)-(I0), (B)(I). (C)-(IV). (D)-(ITD)

[Option ID = 4310]
30 (AT, (BY-ATV), (C)-(IT). (D)-(T)

[Option ID = 4311]

4 ATV, (B, (C)-(Ty. (D)-(IT)

[Option ID = 4312]



) Match List I with List IT

ListI Last IT
Waorld Conference on Women-places Year of Conference
(A) Mexico I 1995
(B) Copenhagen (I 1975
(C) Naiwrohi (IIT) 1980
(D) Beying (IV) 18985

Choose the correct answer from the options given helow:

Tt I = = 11 gt = e e

T -1

AT W i (993 THPH 09 i
(A) HFEER (M 1995
(B) FTET D 1975
(©) (IIT) 1980
Dy IV) 1985

Bl R U U e 1 = B = e e o e o e 1 L

[Question ID = 1079][Question Description = 174_10_SocialWork_0OCT22_Q74]
T (A)(D. (B)-(IV). (O)-(ITD). (D)-(II)

[Option ID = 4313]
2. (Ay-(IT). (B)-(IM). (C)-(IV). (D)D)

[Option ID = 4314]
3 (A)ID. (B)-(D), (C)-(IID). (D}-(IV)

[Option ID = 4315]
4. (A)(IIT) (By(IL. (C)-IV). (D)«T)

[Option ID = 4316]

) Match Last I with List IT
Last I Last IT
Theoretical Approaches to study of Treatment
hehaviour
{A) Behaviourist (I) Develop 1nsight Into causes of
behaviour
{B) Cognitive {II) Provide conditions for  growth.

ensuring needs are met

(C) Paychodynamic (IIT} Replace negative automatic thoughts
with rational reasoning

(D) Humanist (IV) Create an environment  where
reinforcers support required behaviour

Choose the correct answer from the options given below:



=T 1 % @ve 11 5= #1 e i

T=fi-I THI-IT
(AY  =EETEEr (I) =97 & FFH & A0 § F=gT GHES
(B) T Il =FE F IR UAEn Y
AETIHAT A THT=E F
(€ mAFTEeteEa (III) wiiig® 7% O =0 3799 TPEraS 9=n Fl
(D) TEEAEE (IV) UH TEEE IR FT AR HIEGAH

.

Hr= fav e T § ° R I o =gE Fie

[Question ID = 1080][Question Description = 175_10_SocialWork_0CT22_Q75]
1 (A)-IV), (B)-(ID). (C)-(D. (D)D)

[Option ID = 4317]
2. (A(D); (B)-(ID), (C)-(II0). (D)-(IV)

[Option ID = 4318]
30 (AMID). (B)-(IV). (C)y-(Th. (D)-(100)
[Option ID = 4319]
4 (A)(TID). (B)-(IV). (C)«IL). (D)-(1)

[Option ID = 4320]

76
) Under Industrial Disputes Act. 1947. a machinery for the prevention and settlement of

industrial dizputes 1s given. Arrange in the ascending order.
(A)  Labour Tribunal

(B) Courts of Inguiry

(C) Works Committee

(D)  Coneihiation Officer

(E) Board of Concihiation

Choose the correct answer from the options given below :
Wi fEaE AfafEE, 1047 F A9 ST EEE F EEE 97 A F S0 0F w5 T o
% | STl AWE %9 H iR i |

(A)  HTE A

By == e

(C)  =e wiEtE

(D)  TEE FTEA

(B)  ToE &

¥ o e T 1 3 A = o = i

[Question ID = 1081][Question Description = 176_10_SocialWork_0OCT22_Q76]
1. (D). (E). (C). (A) and (B)

(D). (E). (C). (A) 311 (B)



[Option ID = 4321]
2. (E). {A). (B). (C) and (D)

(E). (4). (B). (C) =1 (D)

[Option ID = 4322]
3. (C), (D). (E), (B) and (A)

(C), (D). (E), (B) 317 (4A)

[Option ID = 4323]
4. (C), (B). (E). (D) and (A)

(C). (B). (E). (D) 31 (4)

[Option ID = 4324]

77
) Arrange the following in order of the yvear of establishment

(4 Association of Schools of Social Work in India

(B) Indian Conference of Social Work

(C)  Indian Association of Trained Social Workers

(D) National Assoclation of Professional Social Workers of India

Choose the correct answer from the options given below :

(A)  HFF E HTEE A EEEE A9

(B) T w4 oeee

(C)  wires amisF FEFa geaE o9

(D) AW Tl =EEEE GETTS FrEa RAE 99
f= T2u MU fEEeT 5§ OE 39 W =99 Hien

[Question ID = 1082][Question Description = 177_10_SocialWork_0CT22_Q77]
T (A) (B (©) and (D)

(A), (B), (C) 31 (D)

[Option ID = 4325]
2. (B). {A) (C) and (D)

(B). (A), (C) 317 (D)

[Option ID = 4326]
3. (D) (B) (A) and (C)

(D). (B}, (A) =% (C)

[Option ID = 4327]
4 (C), (D), (Byand (A)

(C). (D). (B) 31 (4)

[Option ID = 4328]



78 : . R
) Arrange the following Sustainable Development Goals (SDG) as per UN Declaration

according to thelr goal number.

(A) Good health and well - being
(B) Zero Hunger

(C) No Poverty

(D) Quality Education

Choose the correct answer from the options given below :
= 1 3 79 = o= § AR ggniE 5w we (v 5 ) | i w6
(A} 3= =R AR e
(B) I gEE
(C)  THd=an =1 W& AHE
(D) o e
i T30 T T § H HE 3 =S h

[Question ID = 1083][Question Description = 178_10_SocialWork_0CT22_Q78]
T (D). (A). (B) and (C)

(D), (A), (B) #1 (C)

[Option ID = 4329]
2. (A). (D). (C) and (B)

(A), (D). (C) =1 (B

[Option ID = 4330]
3¢ (A (C). (B) and (D)

(A), (T), (B) 3T (D)

[Option ID = 4331]
4. (C). (B). (A) and (D)

(C). (B), (A) 31 (D)
[Option ID = 4332]

79 . .
) Arrange the sequence of components of project management cyvele.

{A) Assessment

(B) Monitoring

(£2)] Designing

(D} Implementation
{tE) Evaluation

Choose the correct answer from the options given below :



QTR AR TF F 92 1 #E § ST 1

£ F

(A) Harm
(B) AT
f("! 55 :rl

(D) FHEEEA

(E)  F=am=

= o0 7w e § 8 OE 39 @ 599 S

[Question ID = 1084][Question Description = 179_10_SocialWork_0CT22_Q79]
1. {A). (D). (B). (C) and (E)

(&), (D). (B, (C) 317 (E)

[Option ID = 4333]
2. (E). (A). (B). (D) and (C)

(E). (A), (B). (D) 7 (C)

[Option ID = 4334]
3. (A) (C). (D), (B) and (E)

(A), (0), (D). (B) 31 (E)

[Option ID = 4335]
4. (C), (D). (B). (A) and (E)

(C). (D), (B). (A) =1t (E)
[Option ID = 4336]

80)
Arrange the order of the Evolution of the approaches of Professional Social Work in India.

(&) Charity

(B) Empowerment
(C) Development
(D) Welfare

Choose the correct answer fiom the options given below ;
(Ay T
(B)  HIRI F0
(Cy TaFm
(D) ESa 1kl
E 1 B A1 = 7t = = o e e e 2 B o L

[Question ID = 1085][Question Description = 180_10_SocialWork_0OCT22_Q80]
1. (A (D). (C) and (B)

(A), (D). (C) %77 (B)

[Option ID = 4337]
2. (D). (C). (B) and (A)

(D), (C). (B) 37 (A)

[Option ID = 4338]



3.

4.

(B), (C), (A) and (D)

(B), (C). (A) 31T (D)

[Option ID = 4339]
(C), (A, (B) and (D)

(O). (A), (B) #1 (D)

[Option ID =

81)

(A)
(B)
(C)
(D)
(E)

4340]

Arrange the following seguence of research process

Hypothesis Formulation
Prohlem Formulation
Eesearch Design

Data Collection & Analvsis

Generalization

Choose the correct answer from the options given helow :

I1E Wi T R e |

(A)  UfFET ST

(B) T T

(C)  oIg =Ty

(D) PRSI A ETET

(Ey S

E e R e 2 e e e e et e 0 B e 0

[Question ID = 1086][Question Description = 181_10_SocialWork_0CT22_Q81]

1.

4.

(A), (B). (C). (D), (E)
(A). (B (C). (D)AE)

[Option ID = 4341]

- (B}, (A). (C), (D). (E)

(B). (A (C). (DL (E)

[Option ID = 4342]

- (0 (B (A (E) (D)

(C). (B). (A). (E). (D)

[Option ID = 4343]
(Ch (D). (A (B (E)

(O (D) (A (B (E)

[Option ID = 4344]

82) Which among the following statements are true about the Minimum Wages Act. 19487

(A)
B)
()
(D)

Wages include value of house accommodation
Minimum wages shall be revised once 1n five vears
Includes provisions for fising mimmum rate for overtime work by employees

Wages include gratuity ( Pavable at the time of emplovee seperation )

Choose the correct answer from the options given below :



et § 8 FFR-4 =Ea Tag AfaEE 1948 F A § 7 27
I TG S 9Nl 8 U S i s |
U TG ATl Teagd] (el St & 96 9 w5 |

(&)
(B)
(C)
(D)

fa] [

Fr3 fou e et § O o I = = it

[Question ID = 1087][Question Description = 182_10_SocialWork_0OCT22_Q82]

Ay @)
[Option ID = 4345]
2. (A) (O

[Option ID = 4346]
3 (B (O

[Option ID = 4347]
4. (B), (D)

[Option ID = 4348]

83)

Arrange the following on the basis of shifting focus of social work intervention

(A)
(B)
()
(I

Individual Pathology
Empowerment and liberation
Society as benign

Structural causation

Choose the correct answer from the options given helow :

(A)
(B)
()
D)

=] & ¥9 § 7973

AT HATAG

= fn T w1 | HEl I 1 999 H0a

[Question ID = 1088][Question Description = 183_10_SocialWork_0OCT22_Q83]
. (A (B). (C) and (D)

(A), (B). (C) 57 (D)

[Option ID = 4349]
2. (C), (D). (B) and (A)

(C), (D). (B) 3T (A)

[Option ID = 4350]
3. (A), (C), (D) and (B)

(A). (T), (D) #F (B)

[Option ID = 4351]
4. (C). (B). (D) and (A}

(C), (B), (D) 31 (A)



[Option ID = 4352]

84)
Arrange the steps of community work for Community development (Task Ovientation)
(A) Programume planning by the worker / agency
(B) Resource mobilization by the worker / agency

(C) Enlisting peoples Participation
(D) Identification of the needs by the worker [ agency / community.
(E) Ensurng sustainability

Choose the correct answer from the options given below |
(B)  FHER /TS G SO TEA
(C) e R YTEE e
(D) R/ EEE G AETEEIET H e e S
(E) SRS gifvan e

i Tou T TaeT § § A I H = A

[Question ID = 1089][Question Description = 184_10_SocialWork_0CT22_Q84]
1. (E). (A). (D). (C) and (B)

(E), (A). (D). (C) #7 (B)

[Option ID = 4353]
2. (B). (A (C). (D) and (E)

(B). (A), (C), (D) 3T (E)

[Option ID = 4354]
3.0 (D). (A). (B) and (E)

(C), (D). (A), (B) 31 (E)

[Option ID = 4355]
4. (D). (C). (B). (A)yand (E)

(D). (C), (B, (A) 3 (E)

[Option ID = 4356]

85 ; .
) Arrange the sequence of the evolution of commmunity worlk
(A) Emergence of social work profession
(B Stress on professional and consensus approach

(C) Nelghbourhood or Community idea
(D} Community work as radical social movement

Choose the correct answer from the options given below :



HHEIES T4 & (9 & F9 5 Gagd i, |
(A)  HEITEE T S4EEE = ATEEE

(B) =mEEiE® #R A@UiE 390 9 HE

(C) = wFa TEEF e

(D) if=F= TmElTF 90=H F =9 3 IEaF 71
I 50 U e | A WA IR 1 99 A

[Question ID = 1090][Question Description = 185_10_SocialWork_0CT22_Q85]
1. {A). (B). (C) and (D)

(A). (B), (C) =117 (D)

[Option ID = 4357]
2. (B). (C). (A)y and (D)

(B, (C), (A) =31 (D)

[Option ID = 4358]
30 (AL (C). (B) and (D)

(A). (C). (B) #iT (D)

[Option ID = 4359]
4. (B). (A). (D) and (T)

(B), (A), (D) 3R (O)

[Option ID = 4360]

86)
Given below are two statements:; one is labeled as Assertion A and the other is labeled as
Eeason R
Asszertion (A): COVID — 19 appropriate behaviour 1= a new normal
Reazon= (R) : COVID — 19 has= expozed health svstem in India

In the light of the above statements. choose the Correct answer from the options given helow

4 71 #oa fau T F; ue e (Assertion A) $ ®Y H @@ # Al T 35% #00 (Reason R) %
=1 |,

'ﬂ'ﬁﬂ“iﬂ (A ; '-t:lli-':-i,;—la =l T FHGEN 79 AHAT 2 |

1 (R) : Fias —19 9 AW § TG YOS F AW #1591 E |

T YT F AR H, 99 190 0 {mEedl 5 5 Rl 39 H 99 e

[Question ID = 1091][Question Description = 186_10_SocialWork_0CT22_Q86]

1 Both (A) and (R) are true and R 1s the correct explanation of A

(A) 317 (R) 21 &e9 2 A1 (R). (A) 1 73 == 2

[Option ID = 4361]
2. Both (A) and (R) are true but R 1s NOT the correct explanation of A

(A) T (R) o1 9rg 2, #ifF (B), (A) =hi H&T == 981 2

[Option ID = 4362]

3. (A) is true but (R) is false



(A) T 2 =01 (R) 39+ 2

[Option ID = 4363]
4. (A) is false but (R) iz true

(A) 397 & &4 (R) A= 7

[Option ID = 4364]

87)
Given helow are two statements: one 1z labeled as Assertion A and the other 1s labeled as
BReazon R
Assertion (A):  Programme media used in the group work practice is democratic in nature.
Reasons (R) : Group worker 1s the school setting acts on his / her whims and fancies,

In the light of the above statements. choose the most appropriate answer from the options
given below

o

Hr o1 9 fom T 2 U ST (Assertion A) F FY § i@ ¢ a1 AT 586 #00 (ReasonR) &

AR (A) AT TS T TR S 7 (A S A5E FE SSEEw 8 w5 E
F0 (R) : foramerdt S 5 TR FE S A A A T E

i e T e i 1 B L L 2 e e ot e o i e 0 e e L
[Question ID = 1092][Question Description = 187_10_SocialWork_0OCT22_Q87]

Both (A) and (R) are correct and R is the correct explanation of A

(A) 37 (R) /1 &#1 7 4% (R). (A) 1 53 == 2

[Option ID = 4365]
2. Both (A) and (R) are correct but R is NOT the corrvect explanation of A

(A) 37 (R) =1 731 2, =03 (R), (A) 1 T =am= 781 2

[Option ID = 4366]

3. {A)1is correct but (R) is not correct

(A) w51 & i (R) 781 48 2

[Option ID = 4367]

4. (A)1is not correct but (B) is correct

(A) T8 721 2 afF (R) B4 7

[Option ID = 4368]

88) Given below are two statements:
Statement I : 8oclal work has not been able to establish its 1dentity in India
Statemet I : Social work professionals have failed to respond to the crisis created due to
COVID - 18

In the light of the above statements, choose the most appropriate answer from the options
eiven below



= 71 e e

o I: HETS FE 9EE T SO ea e S 8 A98Y T8 5 9 E

FAIl:  FE5-19 F FF0 3094 77 TF § HAA FTE F SEEITF FEFT 30 o1 § FETA A A |

T YA % A H, A {50 0 e O 3 e I S 6 A A

[Question ID = 1093][Question Description = 188_10_SocialWork_0CT22_Q88]

1.

Both Statement [ and Statement IT are correct

Foa 1 @0 I =1 591 2

[Option ID = 4369]
Both Statement T and Statement IT are incorrect

Fo [ #1151 T 7

[Option ID = 4370]
Statement I is correct but Statement IT 1s incorrect

FoA 1 A9 2, #iaa #29 I 7ea =

[Option ID = 4371]

Statement I 1s incorrect but Statement I 1= correct

oA 1 7o 7, @A w9 099 2

[Option ID = 4372]

89)

Given below are two statements:

Statement [ : Researchers from different countries have proved that field work training
is only possible with the integration of theory and practice

Statemet IT; Social work practice 1= based on common sense and wisdom

In the light of the above statements. choose the correct answer from the options given below
T e '7-_":
A o A B T 7

ST RN =11 = 11 e o1 £ e e P 11 e e oot | B = B 1 2 1 2 1 e o T P P T g = M
T A B A |

FoA Il :  AETAE B TE0 HEE A S0 T W AT

TORE FOE F ATTE 9, 7= 70 @ 8 oE I e A

[Question ID = 1094][Question Description = 189_10_SocialWork_0CT22_Q89]

1.

2.

Both Statement ['and Statement I are true
T 1 wn oA 509 =
[Option ID = 4373]
Both Statement I and Statement II are false
Fo 1 #0 I1 =1 98 2

[Option ID = 4374]



3. Statement I is true but Statement I is false

FH 1 T ¢, A 599 1 999 7
[Option ID = 4375]

4. Statement I is false but Statement II is true
o7 [ 578 2, offdd %29 LA 7

[Option ID = 4376]

90)

Given below are two statements: cne'is labeled asz Assertion A and the other 15 labeled as
Reason R

Assertion (A):  The total ferfility rate in India 1= marking the replacement level of
fertility.

Reasons (R) : The population growth in the country 1s stablishing

In the light of the above statements. choose the most appropriate answer from the options
given below

i B o 50 0 2 U e (Assertion A) % = F g E A T 3 # FN (Reason R) &

w9 T;
ATTFEE (A) HFA H 8Fd U9 o TR F 0T W w6 #59 E
+10 (R) TR R I W R AT |

T HAA F AETE H, A4 50 e 0 9 a9 39 39 6 99 e

[Question ID = 1095][Question Description = 190_10_SocialWork_0CT22_Q90]

" Both (A) and (R) are correct and R 1s the corvect explanation of A

(A) 97 (R) 791 |31 # 311 (R). (A) 1 &8 =wen 2
[Option ID = 4377]

2. Both (A) and (R) are correct but R is NOT the correct explanation of A
(A) 311 (R) 2F1 9971 2, =it (R). (A) =i Gdl = =98 2

[Option ID = 4378]

3. (A} 15 correct but (R) 15 not correct
(A) TE 2 = (R) 581 19 2
[Option ID = 4379]

4.

{A) 1s not correct but (R) 1= correct
(A) 5#1 71 & #FA (R) #91 #

[Option ID = 4380]
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1)

Answer the guestion from the paragraph given below :

Even when a =zocial worker claims not to be using theory in her practice. in fact she 1= still
seelng people and their situations in one way rather than another. Perceptions can never be
‘theory — free’, If we guiz her untethered thoughts, we scon learn that she is making
significant and fundamental assumptions about her clients, and their behaviour. about what
makes them do the things which they do. about the way she comes to understand them. and
about the kind of society mn which they live. To deny this 1s to deny that the social worker 1s
making any sense of the situation. If she iz making sense of it. what particular sense is it
which she makes? Making sense 15 a theory — saturated activity. Just because you cannot
imagine how else to view matters does not mean that yvou are not helding a theory, It just
means that your one theory 13 your entive world of senze, This 1= why I take 1szue with those
whe appeal to commonsense or declare themselves to he pragmatists or =it back in
satisfaction and comfortably announce that thev are eclectics. My criticisms of those who
appeal fo commonsense, those who wants to be a pragmatists and those who feel comfortable
as eclectics exist at two levels, The first. that all social work practices are unavoidably
theorectical in so far as we all t1v to malke sense of the world around us. The second. not only
are our thoughts and actions theoretically informed, our theories themselves say zomething
about the kind of activity we see social work to be. In social work. there are. then two kinds

of theory : theories for zocial work, and theories of soeial work.
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Which of the following 1s not an acceptable proposition for the author of their passage 7

E e e e e e L L e R e B | e i e 1 o o

[Question ID = 1096][Question Description = 191_10_SocialWork_0CT22_Q91]

2.

There are theores for social work
AHTE FE F T g we A

[Option ID = 4381]

There are theories of social work
e B O

[Option ID = 4382]

3. There is an appeal to commonsense centric social work practice



[Option ID = 4383]

4. There iz an enmiphasis on theory driven social work practice

[Option ID = 4384]

2)

Answer the guestion from the paragraph given below :

Even when a social worker claims not to be using theory in her practice. in fact she is still
seelng people and their situations 1n one way rather than another. Perceptions can never be
‘theory — free’, If we guiz her untethered thoughts, we scon learn that she 1s making
significant and fundamental assumptions about her clients. and their behaviour. about what
makes them do the things which they do. about the way she comes to understand them. and
about the kind of society mn which they live. To deny this 1s to deny that the social worker is
making any sense of the situation. If she iz making sense of it. what particular sense is it
which she makes? Making sense 1s a theory — saturated activity. Just because you cannot
imagine how else to view maiters does not mean that you are not holding a theory. It just
means that your one theory 1z your entive world of sense, This 1s why I take 1s3ue with those
who appeal to commonsense or declare themselves to he pragmatists or =it back in
satisfaction and comfortably announce that thev are eclectics, My criticisms of those who
appeal fo commonsense, those who wants to be a pragmatists and those who feel comfortable
as eclectics exist at two levels, The first. that all social work practices are unavoidably
theorectical in so far as we all trv to male sense of the world around us. The second. not only
are our thoughts and aetions theorstically informed, our theores themszelves say something
about the kind of activity we see social work to be. In secial work. there are. then two kinds
of theory : theories for social work, and thecries of social work.
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Even when social workers claim not to be using theory. they do the following.

(A) Making sense of situation

(B) Seeng people and thewr situation

(C) Holding a theory

(D) Malkine significant assumption about clients

Choose the most appropriate answer from the options given helow :



(A)
(B)
(Ch
(I
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[Question ID = 1097][Question Description = 192_10_SocialWork_0CT22_Q92]
(A). (B). (C) and (D) only

1.

3)

Fa (A), (B). (C) 377 (D)

[Option ID = 4385]

(B)

() and (D) only

F9= (B). (C) 57 (D)

[Option ID = 4386]

()

and (D) only

T4 (C) 37 (D)

[Option ID = 4387]

(A)

only

AT (A

[Option ID = 4388]

Answer the question from the paragraph given below :

Even when a somal worker claims not to be using theory in her practice. in fact she 1= still
seeing people and thelr situations in one way rather than another. Perceptions can never he
‘theory — free’. If we guiz her untethered thoughts, we soon learn that she 1= making
significant and fundamental assumptions about her clients. and their behaviour. about what
makes them do the things which they do. about the way she comes to understand them. and
about the kind of society mm which thev live. Te deny this is to deny that the secial worker is
making any sense of the situation. If she 13 making sense of it. what particular sense 1s it
which she makes? Making sense is a theory — saturated activity, Just because vou cannot
imagine how else to view matters does not mean that you are not holding a theory, It just
means that your one theory 1= your entive world of sense, This 1= why I take 1ssue with those
whe appeal to commonsense or declare themselves to he pragmatists or sit back in
satisfaction and comfortably announce that thev are eclectics. My eriticisms of those who
appeal fo commonsense. those who wants to be a pragmatists and those who feel comfortable
as eclecties exist at two levels, The first. that all social work practices are unavoidably
theorectical in so far as we all frv to malke sense of the world around us. The second. not only
are our thoughts and actions theoretically informed, our theories themszelves say something
about the kind of activity we see social work to be. In social work. there are. then two kinds
of theory : theories for soeial work, and thecries of social work.
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Given below are two statements:

Statement I : Malking senze 1= not a theory — saturated activity

Statemet 11 Perceptions can never he theory - free

In the light of the above statements. choose the most appropriate answer from the options
given below

I 71 FoF 20 70 E: . WS W tHATe F OEY § HerEngs W EEn i
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[Question ID = 1098][Question Description = 193_10_SocialWork_0OCT22_Q93]

1.

2.

4.

Both Statement I and Statement II are correct

FoA [ ot 11 =1 =91 2
[Option ID = 4389]
Both Statement I and Statement IT are incorrect
Fo= [ A I =4 T 7

[Option ID = 4390]

Statement I is correet but Statement IT 1s incorrect

o4 1 TF 2, @ %o 1L ea E

[Option ID = 4391]

Statement I is incorrect but Statement IT 1= correct

#3917 7, oA % I o9 7



4)

[Option ID = 4392]

Answer the question from the paragraph given helow :

Even when a =zocial worker claims not to be using theory in her practice. in fact she 1= siill
seelng people and their situations 1n one way rather than another. Perceptions can never be
‘theory — free’. If we quiz her untethered thoughts, we soon learn that she i1z making
significant and fundamental assumptions about her clients, and their behaviour. about what
makes them do the things which they do. about the way she comes to understand them. and
about the kind of society mm which they live. To deny this 1s to deny that the social worker 1s
making any sense of the situation. If she iz making sense of it. what particular sense is it
which she makes? Making sense is a theory — saturated activity. Just because you cannot
imagine how else to view matters does not mean that yvou are not helding a theory, It just
means that your one theory 1s your entive world of sense, This 1s why I take 1ssue with those
whe appeal to commonsense or declare themselves to he pragmatists or =it back in
satisfaction and comfortably announce that thev are eclectics. My criticisms of those who
appeal to commonsense. those who wants to be a pragmatists and those who feel comfortable
as eclectics exist at two levels, The first. thar all social work practices are unavoidably
theorectical in so far as we all f1v to malke sense of the world around us. The second. not only
are our thoughts and aétions theoretically informed, our theories themselves say something
about the kind of activity we see social work to be. In social work. there are. then two kinds
of theory : theories for social work, and theories of social worlk.
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With which of the followine, the author of this paszage has serious disagreement 7

(A) with thoze who appeal to commonsense.

B) with those who call themselves pragmatists.

(C) with those who consider themselves eclectics.

D) with those who advocate theory driven social work.

Choose the most appropriate answer froim the options given below :
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[Question ID = 1099][Question Description = 194_10_SocialWork_0OCT22_Q94]

1.

2.

3.

4.

5)

(C). (D) and (A) only
e (C), (D) (A)

[Option ID = 4393]
D). (C) and (B) only

F== (D), (C) =17 (B)

[Option ID = 4394]
(C). (B) and (A) only

F= (C), (B) T (A)

[Option ID = 4395]
(B). (A) and (D) only

= (B), (A) H (D)

[Option ID = 4396]

Answer the question from the paragraph given below :

Even when a =zomal worker claims not to be using theory in her practice. in fact she 1= still
seelng people and thelr situations in one way rather than another. Perceptions can never be
‘theory — free’. If we guiz her untethered thoughts, we soon learn that she iz making
significant and fundamental assumptions about her clients. and their behaviour. about what
makes them do the things which they do. about the way she comes to understand them. and
about the kind of society 1n which thev live, To deny this is to deny that the social worker 1s
making any sense of the situation. If she 1s making sense of it. what particular sense 1s it
which she makes? Making sense is a theory — saturated activity. Just because you cannot
imagine how else to view matters does not mean that you are not holding a theory, It just
means that your one theory 1= your entive world of sense, This 1= why I take 1szue with those
whe appeal to commonsense or declare themselves to he pragmatists or sit back in
satisfaction and comfortably announce that thev are eclectics. My eriticisms of those who
appeal fo commonsense. those who wants to be a pragmatists and those who feel comfortable
as eclecties exist at two levels, The first. that all social work practices are unavoidably
theorectical in so far as we all f1v to malke sense of the world around us. The second. not only
are our thoughts and actions theoretically informed, our theories themszelves say something
about the kind of activity we see social work to be. In social work. there are. then two kinds
of theory : theories for socal work, and thecries of social work.



1.

o ™ T F BAE A Ui

mﬂﬁ#mﬁ?mﬁaﬁirwaﬂﬁéﬁ?mﬁmﬁ&ﬁ?ﬁh@mw—mﬁﬁ
I § T7 S0 F AT S TR O U A0 | aE T 2 A o T A | SEann FwiY)
ﬁﬁ?ﬁ?hﬂﬁﬁmlwwmwmwmmmﬁrmwaﬁmﬁ
Tmmréﬁ:vwrrraqﬂwamh‘fmwww:mwmﬁwqﬁTmmm
2 30 97 Y TR w0 2 —-{ﬂfmmawnf—ﬂ?smmnrmmm S 39 TUTS = W0 A,
hﬂuTFﬁiﬁpwwwwaﬁmﬁ G e 1 e o = e B mmrrrﬁ—fma—rﬂ—n’w{bm
F Tl 5w i GEgl 2 | 9(c 9% F9 G99 Awdl 2 91 98 Hi d e gt 2 G aw g wm
i [F9 THF 5@ S T 97 a9 A6 o A A F TR 96 # | 3 5 E T6 e
ﬂ%hmﬁ@ﬁﬁmwﬁﬁdiiﬁm#ﬁm@ﬁmﬁwﬁm#aﬁ
‘ﬁm = 6 91 350 2 I?ITHFTWWTFPHTT_H?: =9 F SEERAN] F 350 S 7, ° 56
ATATEAT Fdl 3, T 9 71 WA W TE 99 ¢ | 798 '@ 79 w5 R i ety £59 9
Wé?}mﬁiwmﬁ-mm—waﬂ?ﬁmﬂmfmfﬂﬁmﬂ|mﬂ?%m=ﬁv&mﬂ
ol 0ol Bt o o e 3 L Wwfﬂ?mﬁrﬂmmwnﬁm T
=9 B O9EA ¢ | W9 WA A § g TR F (AR 7, GATS 6 o0 [mghE, A0 99T F0E F

&

ST

Given helow are two statements:

Statement I : ATl social work practices are unavoidably theorectical

Statemet IT: Theores themselves direct the kind of social work activity

In the light of the above statements. choose the most appropriate answer from the options
given below
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[Question ID = 1100][Question Description = 195_10_SocialWork_0OCT22_Q95]
Both Statement I and Statement I1 are correct

w1 A I oF 56 2

[Option ID = 4397]

Both Statement I and Statement I are incorrect
oA 1 3 11 =i 70 7

[Option ID = 4398]
Statement I is correct but Statement IT is incorrect

9 1 HF 2, A T 1L TEE B

[Option ID = 4399]

4. Statement I1s incorreet but Statement IT is correct

Fo I T 7, e T e 7

[Option ID = 4400]



Topic:- 10_PARTC_S1

1)

Answer the guestion from this paragraph given below :

Social science research or social research has two major dimensions to it. One, 18 the
substantive area in which vesearch is done. The other dimension pertains to the
methodological issues. From the substantive viewpoint we talk of sociological research,
research in political science or political sclence research. research in social work or =soecial
work research. The methodological dimension of =ocial science research would focus on the
general and specific strategies to be adopted in fulfilling the objectives of the research study.
Thus, it includes such general strategies as historical research or library vezearch, empirieal
or field research. The latter would include such specific streams as experimental desizns.
case studies. ete, Thus, usually when we vefer to social work research we really mean that
we are referring to the substantive aspects and not necessanly to the methodological aspects.
Social work research helps to find ways and means to enhance =ocial functioning at the
individual. group. community and socletal levels. Therefore. the schools. must teach the
=ocial work research methodology course in the framework of social work practice and not as
1s now the unfortunate situation. independent of the social work framework. When the social
work ressarch methods course 1= faucht independently of the social work fremework. it is
most probable that the class is taught social science research methodology and not social
work research, Social work research 1= the use of scientific method in the search of
Iknowledge . including Enowledze of alternate practice and intervention technigues. which
weould he of divect use to the spcial work profession and thus enhance the practice of =social
work.
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Which among the following can be categorized as substantive dimension of social research 7

(4) Palitical Science Rezearch
(B) Sociological Research

() Experimental Designs

(D) Empirical Research

Choose the most appropriate answer from the options given below :
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[Question ID = 1101][Question Description = 196_10_SocialWork_0OCT22_Q96]
1.

2)

()

and (D) only

e (C) #7 (D)

(A

[Option ID = 4401]

and (B) enly

F5m (A) = (B)

[Option ID = 4402]

(B) and (C) onlv

w4 (B) =1 (O)

[Option ID = 4403]

(A} and (D) only

Fg+ (A) 37 (D)

[Option ID = 4404]

Answer the guestion from this parasraph given below :

Social science research or social research has two major dimensions to it. One, 18 the
substantive area in which wvesearch iz done. The other dimension pertains to the
methodological 1ssues. From the substantive viewpoint we talk of sociologzical research.
research in political science or political science research. research in social work or soeial
werk research. The methodological dimension of socal science research would focus on the
general and specific strategies to be adopted in fulfilling the objectives of the research study.
Thus. it includes such general strategies as historical research or hbrary vesearch, empirieal
or field research. The latter would include such specific streams as experimental desizns.
case studies, ete. Thus, usually when we vefer to social work research we really mean that
we are referring to the substantive aspects and not necessarily to the methodological aspects.
Social work research helps to find ways and means to enhance social functioning at the
individual. group. community and socletal levels. Therefore. the schools. must teach the
sooial work research methodolosy course in the framework of social work practice and not as
1= now the unfortunate situation. independent of the social work framework. When the social
werk research methods course iz taught independently of the social work fremework, It is
most probable that the eclass i1s taught social science research methodolozy and not social
work research. Socizl work research 1= the use of scientific method in the search of
Ikmowledge . including knowledze of alternate practice and intervention technigues. which
would be of direct use to the social work profession and thus enhance the practice of socal
work.
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Which among the following can be infered from the passage 7

FeteEa 3 50 T s=as ¥ 0 9 e A aw

[Question ID = 1102][Question Description = 197_10_SocialWork_0OCT22_Q97]

1. Social seience research is a part of social work research

HHT=F 957 719, STEas 5 919 H 0 97 |

[Option ID = 4405]
Substantively, social work research is part of social science research

TRAEF =Y H AWEISE FE w0, HEE FE 9y F O 6 |

[Option ID = 4406]
3. Methodologically, soeial work research is not part of social science research

111 o = 2 1 Tl o 15 11 1 £ e e e

[Option ID = 4407]
4. Social work research and social research are one and same.

[Option ID = 4408]



3)

Answer the guestion from this paragraph given below :

Social science research or social research has twe major dimensions to it. One, 1= the
substantive area in which rvesearch iz done. The other dimension pertains to the
methodological 1ssues. From the substantive viewpoint we talk of sociologzical research.
research in political science or political science research. research in social work or soeial
werk research. The methodological dimension of socal science research would focus on the
general and specific strategies to be adopted in fulfilling the objectives of the research study.
Thus. it includes such general strategies as historical research or hbrary vesearch, empirieal
or field research. The latter would include such specific streams as experimental desizns.
case studies. etc. Thus, usually when we vefer to social work research we really mean that
we are referring to the substantive aspects and not necessarily to the methodological aspects.
Social work research helps to find ways and means to enhance social functioning at the
individual. group. community and socletal levels. Therefore. the schools. must teach the
=ocial work research methodology course in the framework of social work practice and not as
1= now the unfortunate situation. independent of the social work framework. When the social
work ressarch methods course is taught independently of the social work fremewnrk. it is
most probable that the eclass i1s taught social science research methodolozy and not social
work research, Socizl work research 1= the use of scientific method in the search of
Ikmowledge . including knowledze of alternate practice and intervention technigues. which
would be of divect use to the social work profession and thus enhance the practice of socal

work.
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Given below are two statements: one 1s labeled as Assertion A and the other 1s labelled as
Reason R

Ascertion (A):  Social work research enhances the practice of social work

Reascns (B): Social work research uses scientific methods in the search of knowledge of
alternate practices and intervention technigues.

In the Iight of the above statements. choose the most appropriate answer from the options
given below



4 21 FUE 5T T R UF #EET (Assertion A) F ®9 T fofiga # o ¢80 356 #00 (ReasonR) F
=T H:

ST (A) HETTAs T, TR 1 S=E F aEe el w |
10 (R) : TFETE T SIEER AN FEET R A9 B WF 6 TY § HETSE BE Y

TUE HEE F AR 9, A B0 ST 2§ gaE I 3 R =9 A

[Question ID = 1103][Question Description = 198_10_SocialWork_0OCT22_Q98]

1.

2.

3.

4.

4)

Both (A) anid (R) are correct and R 1s the correct explanation of A

(A) AT (R) 5191 T# 7 A1 (R). (A) i F =g 2

[Option ID = 4409]

Both (A) and (R) are correct but R iz NOT the correct explanation of 2
(A) 3 (R) a1 T2 7, =iA (R, (A) #1 @ =am=n 477 2

[Option ID = 4410]
{A) is correct but (R) 18 not correct

(A) T2 2 1A (R) 991 4781 2

[Option ID = 4411]
{A) is not correct but (R) 1= correct

(A) = 71 7w (R) =R =

[Option ID = 4412]

Answer the question from this parasraph given below :

Social science research or social research haz two major dimensionz to it. One. 1z the
substantive area in which research iz done. The other dimension pertains to the
methodological 1ssues. From the substantive wviewpoint we tall of sociological research.
research 1n political seience or political science rezeavch. research in =social work or social
work research. The methodological dimension of social science research would focus on the
general and specific strategies to be adopted in fulfilling the objectives of the research study.
Thus, it includes such general strategies as historical research or ibrary rezearch, empirical
or field research. The latter would include such specific streams as experimental designs.
caze studies, etc. Thus, usually when we vefer to social work research we really mean that
we are referring to the substantive aspects and not neceszsarily to the methodological aspects.
Social work reseavrch helps to find ways and means to enhance =ocial functioning at the
individual. group. community and societal levels. Therefore. the schools. must teach the
sooial work research methodology course in the framework of social work practice and not as
1z now the unfortunate situation. independent of the sccial work framework. When the social
weork ressarch methods course iz taught independently of the social work fremework. It 1s
most probable that the class i1s taught social science research methodology and not soeial
work research. Social work research 1s the usze of scienfific method in the search of
lkmowledge . including knowledge of alternate practice and intervention technigues. which
would be of divect use to the social work profession and thus enhance the practice of social

work.
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Whach of the following are the dimensions of social research?
(A) Substantive

(B) Humamstic

(Ch Methodological

(D) Curative

Choose the most appropriate answer firom the options given helow :

e TeTEA § AT WY % AT =y R e
(A) e

(B) HmEET

(C) Tt

(D q.-ﬂrlr-gﬁ

+r= fov T feEeT § | weE I I 6 WA Ean

[Question ID = 1104][Question Description = 199_10_SocialWork_0CT22_Q99]
1. (A) and (B) only

waeT (A) #1 (B)

[Option ID = 4413]
2. (B) and (C) only

e (B) #i1 (C)

[Option ID = 4414]
3. (A) and (C) only

F59 (A) AT (C)

[Option ID = 4415]
4. (A) and (D) only

A (A) 3117 (D)



5)

[Option ID = 4416]

Answer the guestion from this paragraph given helow :

Social science research or social research has two major dimensions te it. One, 18 the
substantive area in which wvesearch i= done. The other dimension pertains to the
methodological 1ssues. From the substantive viewpoint we tallk of sociological research.
research in political science or political science research. research in social work or soeial
work research. The methodological dimension of socal science research would focus on the
general and specific strategies to be adopted in fulfilling the objectives of the research study.
Thus. 1t includes such general strategies as historical research or library vesearch, empirical
or field research. The latter would include such specific streams as experimental desizns.
caze studies, ete. Thus, usually when we vefer to social work research we really mean that
we are referring to the substantive aspects and not necessarily to the methodological aspects.
Social work research helps to find ways and means to enhance social functioning at the
individual. group. community and societal levels. Therefore. the schools. must teach the
sooial work research methodolosy course in the framework of social work practice and not as
1= now the unfortunate situation. independent of the social work framework. When the social
weork ressarch methods course iz taught independently of the social work fremework. It is
most probable that the class i1s taught social science research methodolozy and not social
work research. Socizl work research 1s the use of scientific method in the search of
lkmowledge . including knowledge of alternate practice and intervention technigues. which
would be of direct use to the social work profession and thus enhance the practice of social
work.
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Given below are two statements:

Statement I : Social work research helps to find ways and means to enhance social

functioning at the individual. group and commiunity levels,

Statemet I1 : Most of the social work edueational institutions in India teach social work

research methods within the soctal work framework.

In the light of the above statements, choose the correct answer from the options given below



w1 = w T, =0, mEE s wEeE e W A e s

T 311 AT W 8 A TEE R 2 |

FeA I1:  ATTFEW (9 F SETEE, T EE SR 9ETE w0 giEiE w96 6 T H

forem =74 7 |

FHIF F2F F AT 1, A= 5 o e § 1 e s S 9 R

[Question ID = 1105][Question Description = 200_10_SocialWork_0CT22_Q100]

1.

Both Statemient I and Statement I1 are true

Foa 1 30 076 o 2

[Option ID = 4417]

Both Statement I and Statement 1T are false

w1 @i I 2/ 55T 2

[Option ID = 4418]

Statement [1s true but Statement IT1s false

[Option ID = 4419]

Statement [ is false but Statement II is true

Fua 1 9= 2, 9 a1l o

[Option ID = 4420]

Topic:- 11_GP_SH1_Set1_A

1)

The following table shows the number of students in each of the five classes (A-E) of a school
and the percentage (%) of students in these classes who like to play cricket. tennis, handball
and football. Based on the data in the table. answer the questions. (A student can play

one or more games or no game at all)

Class -wise students participation in sports.

Percentage (%) of students who like
Class | Number of students —— -
| Cricket | Tennis | Handball | Foothall

A | 240 60% 70% 50% 60%
B 280 50% 60% 60% 50%
C 320 40% 65% B5% 45%
D 360 65% 75% 65% 5h%
E 480 T0% 80% 5% 45%




FETeEs T # U e S e wane (A-E) 9 uegs | T R e s 5 SaEnd 8 3
e =1 wfAem (%), T &2, ZFAE, T3 W FEAe @e U898 4 5, WEEiF Al AT R ATRs
F AT W AET 1-5 & I aitav | (o st v we  wfes @ w5 9 g 96 5w a=wa 7)

HHA T AT S 5 9EiEe

. ) THE A T [GEEET T (%)
e | 2Fm | Fzm | TEm
A 240 60% T0% a0% 60%
B 280 50% | B0% 60% a0%
C 320 40% 65% 25% 45%
D 360 65% T5% 65% 55%
E 480 0% 80% TH% 45%

The number of students in the school who like to play cricket is

TFehe Tao THE A T [SETaE ) weE S g e w
[Question ID = 1506][Question Description = 101_00_General_27_0CT22_Q01]
1. 872
[Option ID = 6021]
2. 864
[Option ID = 6022]
3. g8z

[Option ID = 6023]
4. 1022

[Option ID = 6024]

2) The following table shows the number of students in each of the five classes (A-E) of a school

and the percentage (%) of students in these classez who like to play cricket. tennis. handball
and football. Based on the data 1n the table. answer the questions. (A student can play
one or more games or no game at all)

Class -wise students participation in sports,

Percentage (%) of students who like

Class | Number of students -
_Clicket Tennis | Handball | Foothall

A 240 60% | 0% | 50% 60%
B | 280 50% | 60% | 60% 50%
c 320 | 40% | 65% | 55% 45%
D 360 65% | 5% | 65% 55%
E 480 0% | 80% | 75% 45%




FETeEs T # U e S e wane (A-E) 9 uegs | T R e s 5 SaEnd 8 3
e =1 wfAem (%), T &2, ZFAE, T3 W FEAe @e U898 4 5, WEEiF Al AT R ATRs
F AT W AET 1-5 & I aitav | (o st v we  wfes @ w5 9 g 96 5w a=wa 7)

HHA T AT S 5 9EiEe

TEE T T et w1 e (%)
A 240 60% | T0% 20% 60%
B 280 0% | 60% 60% a0%
c 320 40% | 65% 25% 45%
D 360 65% | T5% 63% 5b%
E 480 70% | B0% 5% 45%
The number of students who like to play Tenmnis in Class A 1s ——— % less than those

who like to play Handhall in Class E.

FET A T THE TEE] TEE H A EEmeE T wer B E RmeTe el THE S T At
e | T afaee (%) T

[Question ID = 1507][Question Description = 102_00_General_27_0CT22_Q02]
1. 40

[Option ID = 6025]
2. 50

[Option ID = 6026]
3. 53.33

[Option ID = 6027]
4. 56.67

[Option ID = 6028]

3 The following table shows the number of students in each of the five classes (A-E) of a school
and the percentage (%) of students in these classez who like to play cricket, tennis, handball
and football. Based on the data in the table. answer the questions. (A student can play
Ome ar more games or no game at all)

Class -wise students participation in sports,

Percentage (%) of students who like
Class | Number of students —— =
| Cricket | Tenmis | Handball | Football

A 240 60% 70% 50% 60%
B 280 50% 60% 60% 50%
c 320 | 40% | 65% 55% 45%
D 360 65% 75% 65% 556%
E 480 70% 80% 5% 45%




FETeEs T # U e S e wane (A-E) 9 uegs | T R e s 5 SaEnd 8 3
e =1 wfAem (%), T &2, ZFAE, T3 W FEAe @e U898 4 5, WEEiF Al AT R ATRs
F AT W AET 1-5 & I aitav | (o st v we  wfes @ w5 9 g 96 5w a=wa 7)

HHA T AT S 5 9EiEe

. ) THE A T [GEEET T (%)
e | 2Fm | Fzm | TEm
A 240 60% T0% a0% 60%
B 280 50% | B0% 60% a0%
C 320 40% 65% 25% 45%
D 360 65% T5% 65% 55%
E 480 0% 80% TH% 45%

The ratio of the number of students who like to play ericket in Class B to that of the number
of students who like to play Football in Class C is

Feql B # TEee @er WHE W AT [Ganiddl i weEr w1 S e C H e we TEE F6E an
[Question ID = 1508][Question Description = 103_00_General_27_0CT22_Q03]
1. 36:35
[Option ID = 6029]
2. 31:36
[Option ID = 6030]
3. 35:37
[Option ID = 6031]

4. 35:36

[Option ID = 6032]

4) The following table shows the number of students in each of the five classes (A-E) of a school

and the percentage (%) of students in these classes who like to play cricket. tennis, handball
and football. Based on the data in the table. answer the questions. (A student can play
one or more games or no game at all)

Class -wise students participation in sports.

Percentage (%) of students who like

Class | Number of students -
_C]:icket Tennis | Handball | Foothall

A 240 60% | 7T0% | 50% 60%
B | 280 50% | 60% 60% 50%
c 320 | 40% | 65% | 5% 45%
D 360 65% | 5% | 65% 55%
E 480 70% | 80% 75% 45%




FETeEs T # U e S e wane (A-E) 9 uegs | T R e s 5 SaEnd 8 3
e =1 wfAem (%), T &2, ZFAE, T3 W FEAe @e U898 4 5, WEEiF Al AT R ATRs
F AT W AET 1-5 & I aitav | (o st v we  wfes @ w5 9 g 96 5w a=wa 7)

HHA T AT S 5 9EiEe

. ) THE A T [GEEET T (%)
e | 2Fm | Fzm | TEm
A 240 60% T0% a0% 60%
B 280 50% | B0% 60% a0%
C 320 40% 65% 25% 45%
D 360 65% T5% 65% 55%
E 480 0% 80% TH% 45%

If M is the number of classes in which more than 180 students like to play handball, then M =

T2 M =9 T2l #7961 2 399 180 O afaw fend] 229 oo g9z 5| 2, @1 M=

[Question ID = 1509][Question Description = 104_00_General_27_0CT22_Q04]
1. 9

¥
[Option ID = 6033]

2. 3
[Option ID = 6034]

3. 1

[Option ID = 6035]
4.0

[Option ID = 6036]
5 The following table shows the number of students in each of the five classes (A-E) of a school
and the percentage (%) of students in these classez who like to play cricket. tennis, handball

and football. Based on the data in the table. answer the questions. (A student can play
one oF more games or no game at all)

Class -wise students participation in sports,

Percentage (%) of students who like

Class | Number of students —— =
| Cricket | Tenmis | Handball | Football

A 240 60% | T0% | 50% 60%
B | 280 50% | 60% | 60% 50%
c 320 | 40% | 65% | 55% 45%
D 360 65% | 5% | 65% 55%
E 480 0% | 80% | 75% 45%




et aifer 7w faamwm i o= e (ACE) 9 wogs | faatdar S e o 5 S 0 3
e =1 wfAem (%), T &2, ZFAE, T3 W FEAe @e U898 4 5, WEEiF Al AT R ATRs
F AT W AET 1-5 & I aitav | (o st v we  wfes @ w5 9 g 96 5w a=wa 7)

AT E FE-TIW HETdE 1 qriEn]

e ) UHE i A ST o e (%)
fre | 2w | Fzam | TEam
A 240 60% T0% a0% 60%
B 280 50% | B0% 60% a0%
C 320 40% | 65% 25% 45%
D 360 65% T5% 65% 55%
E 480 0% 80% TH% 45%

The maximum percentage of studentzs in Class A who do not like to play any of the given four
games can be

ot O W e - 11T e o M 12 ot B ot o e T M e P i o B B 1 B e [ == e - e e B e o
[Question ID = 1510][Question Description = 105_00_General_27_0CT22_Q05]
1. 40%

[Option ID = 6037]
2. 10%

[Option ID = 6038]
3. B0%

[Option ID = 6039]
4. 30%

[Option ID = 6040]

Topic:- 11_GP_SH1_Set1_B
D Which of the following is outside the perview of characteristics of learning?

eTaTEs § Fi ST 0 Eerame i uita % e 96 am e ?
[Question ID = 1511][Question Description = 106_00_General_27_0CT22_Q06]
- Learning is a life long process

[Option ID = 6041]
2. Learning is a temporary change in behaviour

AP R H UF SR giteT 7

[Option ID = 6042]

3. Learning is prompted by individual needs

ArTe FafgaE SETgEaren 4 9 w2 2l

[Option ID = 6043]
4. Learning is transferable



AT FEATE AT £

[Option ID = 6044]

2)  Which of the following operations comes under the pre-active phase of teaching according to

Philip. W. Jackson?
e M M ke Bl 12 O B el e B e e o o B2 =2 e o o e e s e

[Question ID = 1512][Question Description = 107_00_General_27_0CT22_Q07]

1. Diagnosis of the learners

[Option ID = 6045]
2. Decision about the strategies

[Option ID = 6046]
3. Aetions and reactions

[Option ID = 6047]
Selecting appropriate testing devices

ITIEE A g =

[Option ID = 6048]

3) Given below are two statements ;

Statement I : In synchronous mode, both teacher and learners are present at the
same time,
Statement II :  Tutors in online spaces do not have the opportunity to show partiality

and steadfastness towards knowledge.

In the light of the above statements. choose the most appropriate answer from the options
given below :

49 B F5 feu Mo E

Fug 1:  waFTes e 5, Fes va wfeme 5 v @ mme W e e A

Fo I1:  wAeA 9gEl B SHOEH (Z20) F 99 TH F UG 16T 97 geama Tee w1 s T4

=1
ST F4H F AR °, 4= B I FeT § 1 g9 39T I F1 9499 S

[Question ID = 1513][Question Description = 108_00_General_27_0CT22_Q08]
1. Both Statement I and Statement II are correct

FuF I 4w Il aF 981 &

[Option ID = 6049]
2. Both Statement I and Statement I1 are incorrect



T 1 A7 I =39 774 7
[Option ID = 6050]
Statement I 1s correct but Statement II 1= incorrect
Fom 1981 2, Tired e e 7
[Option ID = 6051]
Statement I is incorrect but Statement IT 13 correct
Fo 790 &, oerd e [IaE

[Option ID = 6052]

4) Arrange the following five elements of ‘Pedagogy’ given by Herbert

(A) Generalization
(B) Association

(C) Presentation
(D) Application

(E) Preparation

Choose the correct answer from the options given below :

EC A T I et e 1 P e o e O e o e T o | 1 M2 1 0 e

(A) AT
(B) ar=d

(C)  gaArFm
(D) A
(E) =

Hr= B0 0 fEeT § O TR 3 o =99 S
[Question ID = 1514][Question Description = 109_00_General_27_0CT22_Q09]
1. (E), (D, (B), (A), (C)

[Option ID = 6053]
2. (E), (Q), (B), (A). (D)

[Option ID = 6054]
3. (C). (E). (B). (D). (&)

[Option ID = 6055]
4 (B), (D). (E), (C), (A)

[Option ID = 6056]



%) Match List I with List IT :
List I
(Learner attributes)
(A) Problem-solving
(B) Creative thinking

(C) Critical thinking

(D) Declsion making

List IT
(Meaning)

(I} The ahility to reflect upon the meaning
and analysing the facts

(IT) The ability to address a problem for
successful outcome

(ITI) The ability to look at things differently
and find new ways of solving problems

(IV) The ability to seleet a course of action
which would lead to desired outcome

Choose the correct answer from the options given below :

-1 g AT 7 e i

=11
(st fas)
(A) #EFAT — TEEE

(B) #HH o T
(C) wErEATR o

(D) o=

=11l
(=)
M) e A fim i 5 gEe s e

1 e L O 2 L= = = o e L 0 D e 3 1 LA

[Question ID = 1515][Question Description = 110_00_General_27_0CT22_Q10]

T (A)-(ID). (B)-(III). (C)-(T). (D)-«(IV)

[Option ID = 6057]

2. (A)HIV), (B)-(ID), (O)-(D). (D)-(1IT)

[Option ID = 6058]

3. (A, (B)-(I). (C)-(IV), (D)-(11D)

[Option ID = 6059]

4 (A-IV). (B)-(IID). (C)-(I). (D)~(IT)

[Option ID = 6060]

6) Coding paradigm is extensively used in

ol o o

efefigs § @ foFad Fifs aiagE =1 3990 T =9 | f=r amr 27

[Question ID = 1516][Question Description = 111_00_General_27_0CT22_Q11]

1. Language analysis
Ty AT

[Option ID = 6061]
2. Conversational analysis



[Option ID = 6062]
3. Grounded theory research

AT g A

[Option ID = 6063]
4. Covert cbservation

TH TE

[Option ID = 6064]

7} The analytic - induction strategy is a method of
Terd — Are FEAI AT § | e Ty 7

[Question ID = 1517][Question Description = 112_00_General_27_0CT22_Q12]
1. Quantitative analysis

gl e
[Option ID = 6065]
2. Qualitative analysis
[Option ID = 6066]
3. Field ohservation
CERE
[Option ID = 6067]
4. Participatory analvsis
[Option ID = 6068]
8)
Which of the following are included in the positivist paradigm of research?

(A) Quantification

(B) Construction of hypotheses
(C) Use of objective measures
(D) Subjective analysis

(E) Rejection of theories

Choose the correct answer from the options given below :
frafangs § 3 7 9 9 F TEadn] TeeE § oee £ 7
(A)  HFEEiFT
(B)  gfFegAT w5 AR
(C) == J1= =1 33
D) AT ETE

4= fzu o fasedt 3 U8 I F 99 Fian



[Question ID = 1518][Question Description = 113_00_General_27_0CT22_Q13]
1. (A). (B). (C) only

=== (A). (B). (C)

[Option ID = 6069]
2. (B). (C). (D) only

a1 (B). (©). (D)

[Option ID = 6070]
3. (C). (D). (E) only

et (0). (D). (E)

[Option ID = 6071]
4. (A). (D), (E) only

Fa (A). (D). (E)

[Option ID = 6072]

9) Given below are two statements : One is labelled as Assertion A and the other is labelled as
Rea=zon R.

Assertion (A) : Experimenter's bias is a real issue at different phases of research.

Rea=on (R) : A researcher can influence the results of a study by mistakes in ohservation

and data entry. either intentionally or otherwise.

In the light of the above statements. choose the most appropriate answer from the options

given below :

31 FY9F 50 T F o vE AHEAE (Assertion (A)) F ¥9 ® TWhEa 2 A1 297 369F F00 (Reason (R)

FETH ;

wafirEgs (A) : e & fafaer =w T 5=l 1 YA T anias 9ae 2|

F (R) : Tl WAV HE SRS ] WAL § A 3 =] AT F R A9E ®
TIOTHT 1 TEIEE g A

T FUE F T T, 9= B w e 1 19 wes 39aw o w99 Fan

[Question ID = 1519][Question Description = 114_00_General_27_0CT22_Q14]
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 5 (R 21 571 7 310 (R), (A) F1 #7Ff =

[Option ID = 6073]
2. Bath (A) and (R) are correct but (R) 12 NOT the correct explanation of (A)

(&) 3 (B) B w91 7, <1 (R). (A) 1w zamean o 7

[Option ID = 6074]
3. (A)is correct but (R) is not correct



(A) =51 7, R4 (R) 551 451 7

[Option ID = 6075]
4. {A) 12 not correct but (R) is correct

(A) T 7 2, A (R) 7T 2
[Option ID = 6076]

10) Given below are two statements :

Statement I : A discrete variable can represent only finite set of values.

Statement IT : A continuous variable can be broken into subparts including fractions.

In the light of the above statements. choose the correct answer firom the options given below :
9 21 T o

FU9 1:  AEFT =7 Hae GHT F THEA TE=F F 590 O5d B

F99 IT: Tad =7 =1 97 994 399 § 199 =] 7 o9 2

TR FUT F A 8, T S0 T T § I OE 39 =9 R

[Question ID = 1520][Question Description = 115_00_General_27_0CT22_Q15]
. Both Statement T and Statement IT are true

Fe 1 a7 I = 709 =

[Option ID = 6077]
2. Both Statement I and Statement IT are false

Foa 137 I =1 55 7

[Option ID = 6078]
3. Statement I is true but Statement IT is falze

w97 1979 7, =T #9011 550 &
[Option ID = 6079]

4. Statement I is false but Statement II is true

Fort 1 916905 7, =5t =97 [[99 7
[Option ID = 6080]

) In two-step flow of communication, messages pass through

(A) Mass Media
(B) Opinion leaders
() Bureaucracy

D) Spiritual leaders

Choose the correct answer from the options given below :



YA F Z-HME] UER 7 He9 HEiHE 3 7 R §
(B)  wraaa s

(C) e

(D)  wmEATeRE TEA

4= Tou 7w faFedl § O e 300 & =99 FiEm

[Question ID = 1521][Question Description = 116_00_General_27_0CT22_Q16]
1. (A) and (B)

(A) ¥ (B)

[Option ID = 6081]
2. (B)and(C)

(B) ¥ (C)

[Option ID = 6082]
3. (C) and (D)

(C) #=1 (D)
[Option ID = 6083]

4. (A) and (C)

(&) #1 (O)
[Option ID = 6084]

12) The real basis of communieation is

T ] TSR ST R

[Question ID = 1522][Question Description = 117_00_General_27_0CT22_Q17]
1. Peer pressure
HEHAE — 291

[Option ID = 6085]

Personal ambition

AAFTF OEraTEIA]

[Option ID = 6086]
3. Common experience

SILI R R

[Option ID = 6087]
4. Desire for divergence

[Option ID = 6088]



13 3 "
) What are the key features of transactional model of commumeation?

(A) Absence of noise

(B) Extensively used in interpersonal communication
(C) Feedback is a new message

(D) Role exchange by encoder and decoder

(E) Encoder and decoder discrimination is the order

Choose the correct answer from the options given below :

(A) TFETEA HAYE

(B) A SAEaF TUGN § 9E 7 9 T

(C) wfeyf= v F31 #27r 2

(D) Tz AeGT 3 F g T F AR -
(E) ¥z wg# 7 [age% #1 fangs wins sga 3

dr e A 8 O O I gEs Fian

[Question ID = 1523][Question Description = 118_00_General_27_0CT22_Q18]
T (A). (B). (C) only

F97 (A), (B). (C)

[Option ID = 6089]
2. (B). (O). (D) enly

Fa4 (B), (C), (D)

[Option ID = 6090]
3. (C), (D). (E) only

7% (C), (D). (E)

[Option ID = 6091]
4. (A), (D). (E) only

a4 (A). (D). (E)

[Option ID = 6092]

14) Given below are two statements ;

Statement I : The transmission view of communication 1z both hegemonic and
mechanistic.
Statement I1 : The ritualistic view of communication emphasises the factors of

commonality. communion and fraternity.

In the light of the above statements. choose the correct answer from the options given below :



d= F wE fEn T ®

FU L HER AW S i afagese S 91t 2 e R

Fug [1:  H=W % TWAiE g 3 amEan, s 390 890 S5 9296 W 89 (5 S 2
A T T 2o e e = T 5 8 il 1o e s e B i e e 1 - e L

[Question ID = 1524][Question Description = 119_00_General_27_0CT22_Q19]
. Both Statement I and Statement IT are true

F93 I A0 [[ A1 @75 7

[Option ID = 6093]
2. Bath Statement I and Statement IT are false

%97 | ¥R O e #3907

[Option ID = 6094]
3. StatementIis true but Statement IT is false

F9q 1079 2. @ #9911 550 =
[Option ID = 6095]
4. Statement I is false but Statement II 1s true
T I 5003 7, i #yA L o097

[Option ID = 6096]

15) The sequence of zones 1n kinesics is

(A) Personal
(B) Intimate
(C) Public
(D) Social

Choose the correct answer from the options given below :

TS A T OATEE B

®) ==
(C) #AEFEF
(D) =

Hra fEu o famea 0 0 oE I = S
[Question ID = 1525][Question Description = 120_00_General_27_0CT22_Q20]

1 (A), (B), (O). (D)

[Option _ID = 6097]
2. (B), (C). (D), (&)

[Option ID = 6098]
3.(C), (D), (A). (B



[Option ID = 6099]
4 (B). (A). (D), (C)

[Option ID = 6100]
16) A group consists of 3 males. 3 females and 5 children: The average age of the males is 50
years, that of females iz 45 years and that of children iz 10 years. What iz approximate
average age of the group?
U Hgz 5EE 3 99, 3 OfEAn v9 5 = 2| 9FW Sl Wi 9 S0 39 7, Al i AEa 96 45 94 7
vg == 1 WET 9 10 T 3| YR F 0O STET A T 6
[Question ID = 1526][Question Description = 121_00_General_27_0CT22_Q21]
1. 32.5

[Option ID = 6101]
2. 30.45

[Option ID = 6102]
3. 2845

[Option ID = 6103]
4. 3145

[Option ID = 6104]

17)  Find the next number in the series given below :

7,10, 15, 22, 33, 46, 7
= &1 el g B st e T S

7,10, 15, 22, 33, 46. 7

[Question ID = 1527][Question Description = 122_00_General_27_0CT22_Q22]
1. 61

[Option ID = 6105]
2. a8

[Option ID = 6106]

3. /5

[Option ID = 6107]
4. 63

[Option ID = 6108]

18) The daily income of three persons A, B and C 1sin the ratic of 2 : 5: 11 and the income of B 1s
Rsz. 291 more than that of A. Find the income of C

#f5 wfFar A, Bwg C =1 Wiatsa #il 574 2:5:11 F 379 § % v3 B 91 373 A i 979 § 291 790 w@faw
# C =R w/= T i

[Question ID = 1528][Question Description = 123_00_General_27_0CT22_Q23]
1. Rs. 679
679 FIT

[Option ID = 6109]
2. Rs 1.748



1,746 300
[Option ID = 6110]

3. Rs. 1.067

1,067 90

[Option ID = 6111]
4. Rs. 1.256

1,256 00

[Option ID = 6112]

19) Two numbers are. respectively. 28% and 25% less than a third number. What percent is the

first number of the second number?

-

=1 FIEET S T O FE 28% 37 25% FH 2| TEeh T 380 @ F e e A7
[Question ID = 1529][Question Description = 124_00_General_27_0CT22_Q24]
1. 104.16%

[Option ID = 6113]
2 90%

[Option ID = 6114]
3. 92%

[Option ID = 6115]
4. 96%

[Option ID = 6116]

20) A dealer sold three-forth (3/4%®) of his articles at a gain of 20% and the remaining articles at
the cost price. Find the gain earned by him in the whole transaction.

UF famar 3 A T F 34 9T i 20% ATS A= ST AT Tl W A el W (53 7E
2 T I9F gE ATST Tl T AT ] TS —a9E e 2 ¢

[Question ID = 1530][Question Description = 125_00_General_27_0CT22_Q25]

1. 20%

[Option ID = 6117]

2. 18%
[Option ID = 6118]
3. 16%

[Option ID = 6119]
4. 15%

[Option ID = 6120]

21 . : g ; : A Bl »
) “T think you will find that this bail out is the best option before our orgamzation. especially

because disagreement may indicate that this company is not the right place for vou™ Which
informal fallacy 12 committed in the above argument?



“F A=A E TR AT T 5 9 3 FGW A0S e F a4 Fams e @eed 7, T 9 =9 9 36
FAUEY 7 FIF A9H FEREG A 7 R 7 AT 2 7 98 FA A9 90 39 T9E 6 20T

IT4FA IfF H FH = S T AN Hieied ©

[Question ID = 1531][Question Description = 126_00_General_27_0CT22_Q26]
. False alternative

TR Taeneg

[Option ID = 6121]
2. Circular argument

[Option ID = 6122]
3. Appeal to force

[Option ID = 6123]
4. Appeal to inappropriate authority

[Option ID = 6124]

22) Which of the following statements are contraries?

(A) All men are mortal
(B) Some men are mortal
(C) Some men are not mortal

(D) No men are mortal

Choose the most appropriate answer from the options given below :
Fifra § O F O w9 faaimds 51
(&) T Y
B) T3 T 7
(©) F3 759 99 7 74 7l
(D) 1= f = v T AW A
= fou 0 foeTt B 9 Te SugE I F 99 A

[Question ID = 1532][Question Description = 127_00_General_27_0CT22_Q27]
1. (A) and (C) only

Fae (A) J7 (C)

[Option ID = 6125]
2. (B) and (C) only

3+ (B) 37 (C)

[Option ID = 6126]
3. (B) and (D) only



Fa (B) =7 (D)

[Option ID = 6127]
4. (A) and (D) only

Fa (A) 37 (D)

[Option ID = 6128]

23) Which of the following statements are logically equivalent?

(A) Some animals are birds.

(B) Some birds are animals.

(C)  Some animals are not non-birds.

(D) Some animals are non-birds.

(E) Some non-birds are not non-animals.

Choose the most appropriate answer from the options given below :

TR J 5 F | T A g0 J 90E A

(A) Tz T 9 FE A

(B) = 9ET 99 A A

(C) = w9 -9 75 7 R

(D) T T W A R

(B) 3 f-uaft - 75 719 7

e faw T foreut | W wEE ITEEE I H =9 i

[Question ID = 1533][Question Description = 128_00_General_27_0CT22_Q28]
- (A), (B) and (C) only

a3 (A). (B) =1 (C)

[Option ID = 6129]
2. (A), (C) and (D) only

a4 (A), (C) @7 (D)

[Option ID = 6130]
3. (B) and (C) only

= (B) T (C)

[Option ID = 6131]
4. (B). (C). (D) and (E) only

Fa (B). (C). (D) 57 (E)

[Option ID = 6132]



24) Given below are two statements :

Statement I :  According to classical Indian School of Logic inference for oneself is
called Svartha Anumana.
Statement IT :  Svartha Anuména is a syllogism and has to be presented in language.

In the light of the above statements, choose the correct answer from the options given below :

s fgr R

FHL:  AF % AEGE AEAE AE F AR = F 60 SEAE =Y 99E weend 2|

FoA IL: =09 SFHAF =09 T 7 AT T8 9T S W A qE R f

I A ORI 5, A R e O wE 3 T =99 e

[Question ID = 1534][Question Description = 129_00_General_27_0CT22_Q29]
1. Both Statement I and Statement II are true

woa [ o I 2 weg 7

[Option ID = 6133]
2. Both Statement I and Statement IT are false

For I a7 I 3A1 3799 7
[Option ID = 6134]

3. Statement I1is true but Statement II is false
Fuq 1593 &, =i 7o 11 90 &

[Option ID = 6135]
4. Statement I is false but Statement IT is true

F99 1 37979 2, =i o5 [T oed 2
[Option ID = 6136]
25) According to classical Indian School of Logie which of the following steps of inference involve
application of the universal concommitance to the present case?

{A)  This hill has fire

(B) Because it has smoke

(C) Whatever has smoke has fire, e.g. an oven

(D)  This hill has smoke which 1s invariably associated with fire
(E) Therefore the hill has fire

Choose the most appropriate answer from the eptions given below :



qF F qUAM A 97 F SHEE F99F R (FE G9E § SA9F T 5 o gEdies geEha
(A) THTEE A A 7

(B} Hﬂ%mqm?l

(D) =5 =TS ° A 7 A7 Fwnes o | "wana 7

(E)  sfem 9g18i § A 7

Jr fau e faeat 0 O 0eE 39EEE I F 999 hian

[Question ID = 1535][Question Description = 130_00_General_27_0CT22_Q30]
1. (C)and (E) only

Fae (C) 97 (E)

[Option ID = 6137]
2. (B)and (C) only

Fa=1 (B) 517 (C)

[Option ID = 6138]
3. (C)only

Fa (C)

[Option ID = 6139]
4. (D) only

Faet (D)

[Option ID = 6140]

26) Suppose that the class grade for a six-week period is based on three tests (T1, Tz. T:). each of
which counts for 15%, four quizzes (@i, Q2 Q3. Q4), each of which counts for 10%. and a
homework note book (HW), which counts for 15%. The grades are recorded in a spreadsheet
similar to the one below.

| | A |B|c|D|E|F|G |H|I | J
|1 | Name |Ty | T2 | Ts Q| Q  Q | Q|HW|AVG
|2 | Jatin |87 |92 |80 |76 |79 87 | 74| 90
|3 | Amit |91 (85|77 78|88 | 96 |90 | 92
|4 |Anil |65 |72 70|80 81| 74 |77 80

5 | Anita |96 |88 |91 |76 |91 |100 | 74 | 98

Which of the following formulae would NOT be a correct calculation of the six-week weighted
average for Jatin?



T wian o uF 6 gEmE-say F o Fan (wvh) O3 9 ghem (T, Ta. Ta) 598 3 w995 15% 74
Ui &, I geAed il () (Qu Q. Q. Qu), TiEH T weEw 10% 7 I 7, 3% OF TEEE, 1
15% T UieRio 519 W aaTRE 2| afrat (dse) Feen T gae e oresie g we oo )

A B|C|D|E|F|G H| I J
1/ T T ||| @ q|HW|Ave

9 |=fm |87 |92 |80 |76 |79 | 87 | 74| 90
SZ'HFH?T|91 85 |77 |78 |88 | 96 | 90 | 92
4|4 (65|72 |70 |80 (81| 74 77| so
5 | | 96 | 88 |91 | 76 | 91 | 100 | 74 | o8

[t 1 R e = - S 1o B i B = =1 e 7 e = B T M o

[Question ID = 1536][Question Description = 131_00_General_27_0CT22_Q31]
1. =B2+015+C2%0.156+D2+0.15+ E2+01+F2+0.1+G2+0.1+H2+01+120.15

[Option ID = 6141]
2. =(B2+C2+D2+12)*015+(E2+F2+G2-H2)+0.1

[Option ID = 6142]
3. —((B2+C2+D2+12)=1.5+(E2+F2+ G2+ H2))/10

[Option ID = 6143]
4. =(B2+02+D2+I2)/15+(E2+- F2+ G2+ H2)/10

[Option ID = 6144]

27)  Which of the following devices from the list A — E given below are output deviees only?

(A) Blu-Ray disc

(B) Buzzer
(C) Web-Cam
(D) 858D

(E) Laser printer

Choose the correct answer from the options given below :

A3 & Wi A 9 E 7% #1 g=r 8 7 efehas se-h g sae smeege (fria) gfamar 87

(&) =7 7=F
(B) B

(C) =8Fm
D) THTAE

(Ey & m
#= feu o foaeat © § TE 500 1 =99 Fien

[Question ID = 1537][Question Description = 132_00_General_27_0CT22_Q32]
1. (B) and (E) only
37 (B) 311 (E)

[Option ID = 6145]
2. (A} and (D) only



FaeT (A) 57 (D)

[Option ID = 6146]
3. {C) and (E) only

Fa= (C) 57 (E)

[Option ID = 6147]
4. (E) only

Fa (E)

[Option ID = 6148]

28) Match List T with List II :
ListI List IT
(Computer Term) {Description)
(A) Awvithmetic and Logic unit (ALTU) (I) Stores part of the operating system
currently in use
(B) Control Umt (CU) (IT) Carries out operations such as AND,
OR. NOT
(C) Random Access Memory (RAM) (II) Stores bootstrap loader and BIOS
(D) Read Only Memory (ROM) (IV) Fetches and manages execution of
each Instruction in turn
Choose the correct answer from the options given below :
T L | G-I e =i
Gt I
(Foger 92) (77)

o

(A) FEEFTEEAE g2 (T E) (D FAW § W W W w A
=g = uE F e =7 A

(B) =wEE 7 (3 ) () AND. OR. NOT 3 e
TR ST 2

(©) TvEH THEH AT (T T ) @) wm s w A s oA o oA
TuTEd FAT 7

(D) Tz A= THE (97 A7 ) (IV) WEF FEET F IeeY W 7 H0 W

T ST A F a

¥ 5 T el § O TR 39 T =599 A
[Question ID = 1538][Question Description = 133_00_General_27_0CT22_Q33]
1 (A)-(IV), (B)-(IIL), (C)-(II), (D)-(T)

[Option ID = 6149]

2. (A)-ID). (B)-AV), (O)-(D), (D)-dT)
[Option ID = 6150]

3 (A)-ID), (B)-(IV). (C)-(D. (D)(IID)
[Option ID = 6151]

4. (A)-ID. (B)-(D). (O)-(IV), (D)-(TD

[Option ID = 6152]



29)  Consider the following email fields in email software :

To : Ravi@gmail.com

Cc : Rajan@gmail.com. Raj@gmail.com

Bee : Rakesh@gmail.com

Which recipient(s) 1s/are able to see all the other recipients?

-0 Aifadt § Hefeign 5-90 49 Fies W faen Fien

To : Ravi@gmail.com

Ce : Rajan@gmail.com, Raj@gmail.com

Bee : Rakesh@gmail.com

(RLaiE Tl O e Ve 11011 o e s B e 6 | = e e i = 3 BV

[Question ID = 1539][Question Description = 134_00_General_27_0CT22_Q34]
1. Rajan, Raj and Rakesh

[Option ID = 6153]

2 Ravi

LiE

[Option ID = 6154]
3. Rajan and Raj

[Option ID = 6155]
4. Rakesh

i-l

[Option ID = 6156]
30) Given below are two statements ahout online search :

Statement T :  Google search results return the same information to anyone who enters

the same keywords.

Statement 1T :  Search engines are gathering vast amounts of information about our
searches and ourselves.

In the Iight of the above statements, choose the correct answer from the options given below :
e 21 e fam e E
AT e & 90 9
FH1: T HE Az § ] S g THE TR (F 98) # 1= 9 96 ged 6 w6 A
FR I = 3 (o 55E) 7 @i o soE = F AW § g9 % 95 53R F UES 9 O A
e T E R T S TR e M | B A L = e e e Rz P i e 0 B DL 0 L

[Question ID = 1540][Question Description = 135_00_General_27_0CT22_Q35]



Both Statement I and Statement IT are frue

Fuq I+ [L3H o9 7

[Option ID = 6157]

Both Statement I and Statement 1T are false

Fu7 [ a7 129 5159 7

[Option ID = 6158]

Statement I iz true but Statement IT is false

F99 [ 9e9 &, #ie F94 Il 597 2

[Option ID = 6159]

Statement I is false but Statement IT 1= true

g T oaey 2. At 9 T oeg 7

[Option ID = 6160]

31) Organochlorine pesticides such as DDT's human toxicity is comparatively lower. It is their
impact on food chain that leads to acute human toxicity. Their properties that cause them to

be impactful on food chain are
{A) Persistence

(B) Insolubility

(C)  Solubility

D) Polarity

Choose the most appropriate answer from the options given below :

Bt e B [ e 1 e e e i = B e s e 2 e B e 0 Lt e o | R R
T AT W2 WAl 2] 39 UH w0 0 E A 35 R0 49 W gHEy 89 # -

(A) Hldedq

B)  FIETEIEA]

(C) HefA=eTdr

(D)  gaFm

= T2 T TeRe § W WA ST S R I SR

[Question ID = 1541][Question Description = 136_00_General_27_0CT22_Q36]
1. {A) and (B) only

T (A) T (B)

[Option ID = 6161]
2. (A)and (C)only

Fae (A) 37 (C)

[Option ID = 6162]
3. (A), (B) and (D) only

Fae (A), (B) 51 (D)

[Option ID = 6163]
4. (A). (C) and (D) only



Fad (A), (C) =7 (D)

[Option ID = 6164]

32) Which of the following are responsible for global cooling?

(A) Halocarbons

(B) Stratospheric ozone
(C) Tropospheric ozone
(D) Sulphate aerosols
(E) Black carbon

Choose the most appropriate answer from the options given below :
et 5 & F19-8 F0F divas 9906 o o0 TaeEn § -

(A)  EETEEA

(B) HAMIHSHE IAE
(C) HTGHEAE AT
(D) o5z TEE

(E)  =oteh e

A1 T2 U et B W HEE ST 39 R 999 a0

[Question ID = 1542][Question Description = 137_00_General_27_0CT22_Q37]
1. (A), (B) and (D) only

Fae (A). (B) 37 (D)

[Option ID = 6165]
2. (B) and (D) only

Fa (B) =7 (D)

[Option ID = 6166]
3. (B). (D) and (E) only

a4 (B), (D) #7 (E)

[Option ID = 6167]
4. (Cyand (D) only

Fa (C) 57 (D)

[Option ID = 6168]

33)  Which of the following are Sustainable Development Goals (SDGs)?

(A) Life below water
(B) TLafe on land

(C) Zero deforestation
(D) Clean water

(E) Clean Aar

Choose the correct answer from the options given helow :



fFefefas § 3 %99 #ed e we 2
(A) = F A= T

(B) HWW A=A

(C) 7=

(D) ===

(E) =9
% T T AT 6§ AE T 99T A

[Question ID = 1543][Question Description = 138_00_General_27_0CT22_Q38]
1. (A). (C) and (D) only

47 (A), (€) 57 (D)

[Option ID = 6169]
2. (B), (C) and (E) only

#ad (B). (C) 37 (E)

[Option ID = 6170]
3. (A)., (B) and (D) only

ae (A), (B) =i (D)

[Option ID = 6171]
4. (A). (B). (D) and (E) only

= (A), (B), (D) =7 (E)
[Option ID = 6172]

34)  India’s disaster management plan is based on

[Question ID = 1544][Question Description = 139_00_General_27_0CT22_Q39]
1. Senda Framework

[Option ID = 6173]
2. EKyoto protoeocl

T2 T2
[Option ID = 6174]
3. Rio summit

[Option ID = 6175]
4. Montreal protocol

e .

[Option ID = 6176]

35) Blue hydrogen is produced by process of



FafafEa o 8 e aiwa g =] wEeieE & SeTEA =l B Y

[Question ID = 1545][Question Description = 140_00_General_27_0CT22_Q40]
1. Electrolysis

[Option ID = 6177]
2. Steam reforming of natural gas or methane

TRERTe T A HEE A gar (= i)

[Option ID = 6178]
3. Steam reforming of Bituminous coal

[Option ID = 6179]
4. Steam reforming of lignite

T 91T gAW

[Option ID = 6180]
36) The NEP envisages the setting up of

e fovar <fifa e e i aieEeTn e 2

[Question ID = 1546][Question Description = 141_00_General_27_0CT22_Q41]
1. Regilonal Research councils

[Option ID = 6181]
2. National Research Foundation

T O TS

[Option ID = 6182]
3. National Research Commission

[Option ID = 6183]
4. National Research Regulatory Authority

T T TS T

[Option ID = 6184]

37) Which of the following are the advantages of distance education system?

(A) Free education for all

(B) Flexible system of education

(C) Encourages earn and learn approach

(D) No regular attendance 1s required

(E) High and complex method of knowledee acquisition

Choose the correct answer from the options given below :



Ty T T F #Y Fetena 9 A FE 6 57
(&) T = fon e o

B)  ToEm i g g

(C) =199 o T3 T I AIeATET

(B) FF-#5+ = 39 g Fieed 9l
#rr fou M0 o B W WA 39 99 T

[Question ID = 1547][Question Description = 142_00_General_27_0CT22_Q42]
1. (A). (B). (C) only

F9 (A), (B), (C)

[Option ID = 6185]
2. (B), (C), (D) only

= (B), (C). (D)

[Option ID = 6186]
3. (C). (D), (E) only

Faet (C). (D). (E)
[Option ID = 6187]

4 (A). (D). (E) only

Fa (A). (D). (E)
[Option ID = 6188]

38) Arrange the following in chronological sequences from the beginning to the last as per the
vear of their establishment

(A) Indira Gandhi National Open University

(B) Karnataka State Open University

(Cy  Yashwantrao Chavan Maharashtra Open University
(D) Nalanda Open University

(E) Dr. B.R. Ambedkar Open University (Andhra Pradesh)

Choose the correct answer from the options given below :

FefefEs 1 6 T & 99 § 990 909 8 A9 F FenheE 0 Sagid i

(A)  3fen e T gEe favataEes
(B) FAZF T 09 TEavataEeE

(C) Fvr=Ead =90 HarT= 590 [t

D) e g vt

(E) =i, .o, SEEE 0E avaiaeed (ananE)

i T2u 0 faeRet O W HEI 9 R =AT S

[Question ID = 1548][Question Description = 143_00_General_27_0CT22_Q43]
1. (A). (O). (D). (B). (E)



[Option ID = 6189]
2. (E), (A), (D), (©), (B)

[Option ID = 6190]

3. (B), (C). (A). (E), (D)
[Option ID = 6191]

4. (E), (D). (A), (B), (C)

[Option ID = 6192]

39) Which of the following statements are true regarding Takshashila?

(A
(B)
(©)

(D)

Indian Grammarian Panim had studied there,

Renowned Physician of ancient India Jivaka studied there.
Xuan Zang studied Yogashastra at Takshashila.

Chinese scholar I-Qing visited Takshashila in 7® Century CE.

Choose the most appropriate answer from the options given below :

AT % 91 H [Aeieed 9 8 % Tl J8l A 7

(A)
(B)
(C)
(D)

TTTE SFT A WA A g8 ASEE e 9l

TR WA ¥ GG faimead daw F F8 S99 e Al

TETI—FATT 9 AT IRTEE 1 25 = A1)

i o fagm s-for 4 7ol W E A | aaioren S = )

4 Tau . faweT ¥ W wER IE T H 99 A

[Question ID = 1549][Question Description = 144_00_General_27_0CT22_Q44]
- (B) and (C) only

Fae (B) #7 (C)

[Option ID = 6193]
2. (A) and (D) only

Fa= (A) 97 (D)

[Option ID = 6194]
3. (A), (B), (C) and (D)

(A). (B). (C) #7 (D)

[Option ID = 6195]
4. (A) and (B) only

Fam1 (A) 37 (B)

[Option ID = 6196]



40)

Match Last T with Tast IT :

List I List IT
(Name of the subject) (Domain)
(A) Shiksha (Il Metrics
(B) Kalpa (I) Interpretation
(C) Chandas (ITII) Phonetics
(D) MNImamsa (IV) Rituals

Choose the correct answer from the options given helow :

TE-LF w1 gE-1 7 fEee A
eI TEI-IL
(fama =1 ) (&)
(A forem @ =T
(B) F= (I) T= (graraor)
(€ == () == famm
(D) HmEn (IV) fia—far=

9 v o et B B TR I S 999 i

[Question ID = 1550][Question Description = 145_00_General_27_0CT22_Q45]

1.

2.

3.

4.

(A)-IID). (B)-(IV). (C)-(I). (D)-(II)

[Option ID = 6197]

(A)-(IV). (B)-(III), (C)-(ID). (D)-(I)

[Option ID = 6198]

(A)-(ID). (B)-(D). (O)-(IV), (D)-(11I)

[Option ID = 6199]

(A)-(IT0), (B)-(I), (C)-(II), (D)-(IV)

[Option ID = 6200]

Topic:- 11_GP_SH1_Set1_C

1)

Read the passage and answer below questions:

To end both mass poverty and political uncertainty, the newly hiberated nations required
economic development. Rapid economic growth was required not only te raise lhiving
standards. but also to sustain a spirit of national selidarty. Such was the broadly accepted
consensus. which, however, admitted of variations in policies adopted or rejected by post-
colonial governments. Where communists were 1n charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture, family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant role in
mdustmal production. Yet agriculture remained in private hands. Some eountries left feudal
syatems of landholding intact: others gave ownership rights to tenants or sharecroppers.
There were also varations on the question of international trade and capital flows. Some
countries rigorously protected their own industres from external competition. erecting high
tariff barmers. Others adopted a more flexible trade regime, selectively permitiing foreign
goods and capital into thelr territery. An important factor in the history of modern Asian
nations is that of foreign policy, Countries governed by communist parties were allied with
the Soviet Union. while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chosze to strike out on a
path of non-alignment. choosing not to closely identify with either the Russians or the
Americans,



TR =) 1 9190 UF 46-50 7F F T 1 Ieaw S0
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The newly hberated nations needed economic development for

9 (/1 B §) T L T2 ) e B ehier iR fasre = stEveer 61 7

[Question ID = 1551][Question Description = 146_00_General_27_0CT22_Q46]
1. A broad political consensus

[Option ID = 6201]
2. Governmental contral

T |ﬂ£']4_[ r;[\ .q'-q |

[Option ID = 6202]
3. Rejecting some policies

[Option ID = 6203]
4. National integration

[Option ID = 6204]



2)

Read the passage and answer below questions:

To end both mass poverty and political uncertainty, the newly liberated nations required
economic development. Rapid economic growth was required not only te raise hiving
standards. but also to sustain a spirit of national solidarity. Such was the broadly accepted
consensus, which, however, admitted of variations in policiez adopted or rejected by post-
colonial governments. Where communists were in charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture. family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant role in
mdustral production. Yet agriculture remained in private hands. Some eountries left feudal
svstems of landholding intact: others gave ownership rizhts to tenants or sharecroppers.
There were also variations on the gquestion of international trade and capital flows. Some
countries rigorously protected their own industrmes from external competifion. erecting high
tariff barmers. Others adopted a more flexible trade regime. selectively permtting foreign
goods and capital into their territery. An important factor in the history of modern Asian
nations is that of foreign policy. Countries governed by commumist parties were allied with
the Soviet Union. while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-alignment. choosing not to closely identify with either the Russians or the

Americans.

Fertha Teer 1 92w vE 4650 7F F WA H I S0

7T 71§ 7 T R T S v F e W e i e s S s i e i
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In communist regimes. the aims of thelr core policy were to

{A) Eliminate the private sector

(B) Support family farms

(C) Accept different politico-economic initiatives
(Dy  Nationalise the industries

Choose the correct option given below
AT A T, SR 5T A F 355 9

(A) 990 &7 T w3 e

(B)  OYfETHE W HEEET 217

(C)  Tafus rarias - oias T==11 1 =HiFe

(D) S T TR

4= f2u U oot ¥ ¥ 1E AFeT g



[Question ID = 1552][Question Description = 147_00_General_27_0CT22_Q47]

1.

2.

4.

3)

(A) and (B)

(A) =7 (B)

[Option ID = 6205]
(B) and (C)

(B) =7 (C)

[Option ID = 6206]
(A) and (D)

(A) =7 (D)

[Option ID = 6207]
(C) and (A)

(C) =27 (A)

[Option ID = 6208]

Read the passage and answer below questions:

To end both mass poverty and political uncertainty., the newly liberated nations required
economic development. Rapid economic growth was required not onlyv to raise hving
standards. but also to sustain a spirit of national solidarity. Such was the broadly accepted
consensus, which, however, admitted of variations in policies adopted or rejected by post-
colomial governments. Where communists were in charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture, family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant rele in
mdustral production. Yet agriculture remained in private hands. Some countries left feudal
systems of landholding intact: others gave ownership rizhts to tenants or sharecroppers.
There were also variations on the question of international trade and capital flows. Some
countries rigorously protected their own industres from external competifion. ereecting high
tariff barrmers. Others adopted a more flexible trade regime. selectively permitting foreign
goods and capital into their territery. An important factor in the history of modern Asian
nations iz that of foreign policy. Countries governed by communist parties were allied with
the Soviet Union, while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-alignment. choosing not fo closely identify with either the Russians or the
Americans.
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2 A1 9 9 T=AE TE 9 S 8 A F = W 9 o meafaE e 29 F w9 e |
TP WREEAT A T 6 fAu i sEehy SEwepRa o) 58 S SR S 918 AW W S 0 AR SRRl
off 7T shEfER e A A T s e A 5 avae F e e T wE
b= o e o T e e e e e e i e D e 0 P et (5 -G o e e e T e A e L
o) o= g 8 arfEits w1 aaeEEd e T Agi - 29 9 i st serEs § o
=1 wE Y 9| q9 T AT HE S 6 A L FE 9 3 -9 ST T A A s
= g . = 3 F TEmeE gum weEen = =ae W atawe 3 T semieE s A g
waTE % e | o Eftman o F9 99 3 S99 =g 5 3= w0 g 99 S gieras] # wiE vas #
e 2rF (W) 1 7 § AwEtas ghg 41| A oF 7 SUATEa A9 Aeie oA 79 B A9 S0

@ FH T sl 59 AT I ¥ 99T B9 9 #1999 997§ WEe 7F F SEi 5 e vEEE T
% siaem | v weeayyl uzw T35 A 2| AvEEEl 96 29 S 491 J Giead 9 %y g1 o wE6is
W U <9 A SAF T SHEE F w5 6 | WE) o9 uivad! 39 ) @wg vE a9 gEEd o
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T TEE ST T




The post-colonial governments preferred

SR JTEEl 3 s § 7 58 aim 57

[Question ID = 1553][Question Description = 148_00_General_27_0CT22_Q48]

1.

4)

Political uncertainty

AR .HI i 3 _ﬂg:liia = ;!

[Option ID = 6209]

Broad policy consensus

[Option ID = 6210]

International trade

AT SR

[Option ID = 6211]
Rigorous external competition

[Option ID = 6212]

Read the passage and answer below gquestions:

To end both mass poverty and political uncertainty, the newly hiberated nations required
economic development. Rapid economic growth was required not only te raise hiving
standards. but also to sustain a spirit of national selidarty. Such was the broadly accepted
consensus, which, however, admitted of variations in policies adopted or rejected by post-
colonial governments. Where communists were 1n charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture, family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant role in
mdustmal production. Yet agriculture remained in private hands. Some eountries left feudal
syatems of landhelding intact: others gave ownership rights to tenants or sharecroppers.
There were also variations on the guestion of international trade and capital flows. Some
countries rigorously protected their own industres from external competition. erecting high
tarff barmers. Others adopted a more flexible trade regime, selectively permitting foreign
goods and capital into thelr territeryv. An important factor in the history of modern Asian
nations 1= that of foreign policy, Countries governed by commumst parties were allied with
the Soviet Union. while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-alignment. choosing not to closely identify with either the Russians or the
Americans,
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In the case of foreign policy. Asian nations were

s At % et () # ofer Y
[Question ID = 1554][Question Description = 149_00_General_27_0CT22_Q49]
1. Divided

i

[Option ID = 6213]

2. United

U"'i; B (ol

[Option ID = 6214]
3. Neutral

o

AT

[Option ID = 6215]
4. Tnclear

HEE

[Option ID = 6216]



5)

Read the passage and answer below questions:

To end both mass poverty and political uncertainty, the newly liberated nations required
economic development. Rapid economic growth was required not only te raise hiving
standards. but also to sustain a spirit of national solidarity. Such was the broadly accepted
consensus, which, however, admitted of variations in policiez adopted or rejected by post-
colonial governments. Where communists were in charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture. family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant role in
mdustral production. Yet agriculture remained in private hands. Some eountries left feudal
svstems of landholding intact: others gave ownership rizhts to tenants or sharecroppers.
There were also variations on the gquestion of international trade and capital flows. Some
countries rigorously protected their own industrmes from external competifion. erecting high
tariff barmers. Others adopted a more flexible trade regime. selectively permtting foreign
goods and capital into their territery. An important factor in the history of modern Asian
nations is that of foreign policy. Countries governed by commumist parties were allied with
the Soviet Union. while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-alignment. choosing not to closely identify with either the Russians or the
Americans,
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The passage attempts to analyse in respect of newly liberated countries

TRl A9 e 5, o F A5 0 FEiwa 5 # (0 e w5 WA ] 2

[Question ID = 1555][Question Description = 150_00_General_27_0CT22_Q50]

1.

2

3.

Their post-colonial politico-economic policies

I AR A — AT S =

[Option ID = 6217]
- The need for protectionism in the global market

dfvas AT 8 WAEE Fl ATEeEEal #

[Option ID = 6218]
The importance of non-alignment

TZ-fnaaT & e

[Option ID = 6219]



4. The henefits of Western capital

ufr=Hl 931 % HEed #

[Option ID = 6220]






